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ALDEHYDES, KETONES AND CARBOXYLIC ACIDS

1. Write the IUPAC name of the following compound

CH3;CH = CHCHO

° Watch Video Solution

2. Write the IUPAC name of the following compound

OCHCH,CH,CH,CHO

° Watch Video Solution
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3. Write the IUPAC name of the following compound
0
|
CH; - C —CH = |C — CH;
CH;
o Watch Video Solution
4. Write the IUPAC name of the following compound
CH3;COCH,COCH;
o Watch Video Solution
5. Write the IUPAC name of the following compound

CHs @]

| ||
Cl-CH; —-CHy, —-CH - C — CH;3

° Watch Video Solution
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6. Write the IUPAC name

(CH;),CH — CHO

of the following

compound

° Watch Video Solution

7. Write the IUPAC name

CH; — CH — CH,CHO
|
NH>

of the following

compound

° Watch Video Solution

8. Write the IUPAC name

CHs; —CH — CH; — C — CH3
| /1
OH o

of the following

compound

° Watch Video Solution

9. Express 3335 in roman numbers.

| nu..,;,l,\'!,l,, o~ _01_ _an°* _
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10. Express 3337 in roman numbers.

o Watch Video Solution

11. Express 3338 in roman numbers.

o Watch Video Solution

12. Express 3350 in roman numbers.

o Watch Video Solution

13. Write the structural formula of the following : 3-Methylbutanal.

o Watch Video Solution
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14. Express 3351 in roman numbers.

° Watch Video Solution

15. Express 3352 in roman numbers.

o Watch Video Solution

16. Write the IUPAC name of following compound

(]

I
CH; -CH,—-CH=CH-C-H

° Watch Video Solution

17. Express 3353 in roman numbers.

° Watch Video Solution
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18. Give chemical equation for the following conversion : Cyclohexanol to

cyclohexanone.

o Watch Video Solution

19. Give chemical equation for the following conversion

ethanal.

: But-2-ene to

o Watch Video Solution

20. Express 3373 in roman numbers.

o Watch Video Solution

21. Express 3375 in roman numbers.

o Watch Video Solution
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22. Give chemical equation for the following conversion

pent-3-en-2-one.

: Pen-3-en-2-ol to

o Watch Video Solution

23. Express 3376 in roman numbers.

o Watch Video Solution

24. Express 3377 in roman numbers.

o Watch Video Solution

25. Express 3378 in roman numbers.

o Watch Video Solution
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26. Express 3380 in roman numbers.

o Watch Video Solution

27. Express 3381 in roman numbers.

o Watch Video Solution

28. Express 3382 in roman numbers.

o Watch Video Solution

29. Express 3383 in roman numbers.

o Watch Video Solution
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30. Arrange the following carbonyl compounds in the increasing order of
their reactivity in nucleophilic addition reactions : Ethanal, Propanal,

Propanone, butanone .

° Watch Video Solution

31. Arrange the following carbonyl compounds in the increasing order of
their reactivity in nucleophilic addition reactions : Benzadehyde, p-

tolualdehyde, p-nitrobenzaldehyde, acetophenone.

° Watch Video Solution

32. Would you expect benzaldehyde to be less or More reactive in

nucleophilic addition reactions than propanal ? Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_XXDtBpcITYod
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33. Complete the following statement- Gaseous exchange in the process
of making food by the plants is mainly done through small openings

called-

° Watch Video Solution

34. How will you bring about the following conversion in not more than
two steps ?

Propanone to propene.

° Watch Video Solution

35. How will you bring about the following conversion in not more than
two steps ?

Propanal to butanone.

° Watch Video Solution
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36. How will you bring about the following conversion in not more than
two steps ?

Benzaldehyde to benzophenone..

° Watch Video Solution

37. How will you bring about the following conversion in not more than
two steps ?

Benzaldehyde to 3-Phenylpropan-1-ol.

° Watch Video Solution

38. Choose the correct option- An animal which eats only flesh of other

animals is called animal.

A. Herbivorous

B. Omnivorous

C. Carnivorous


https://dl.doubtnut.com/l/_ef7dLZ0Yhnjg
https://dl.doubtnut.com/l/_q6swJwXZUC01
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D. All of the above

Answer:

° Watch Video Solution

39. How will you bring about the following conversion in not more than
two steps ?

Ethanol to 3-hydroxybutanal.

° Watch Video Solution

40. Convert the following: Ethanal to propanone.

° Watch Video Solution

41. Convert the following: Ethanal to lactic acid.

° Watch Video Solution
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42. Convert the following: Ethanal to 2-hydroxy-3-butenoic acid.

° Watch Video Solution

43. Convert the following: Acetaldehyde to formaldehyde.

° Watch Video Solution

44, Convert the following: Formaldehyde to acetaldehyde.

° Watch Video Solution

45. Convert the following: Acetaldehyde to crotonic acid.

° Watch Video Solution
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46. An organic compound A with molecular formula Cs HgO gives positive
DNP and iodoform tests. It does not reduce Tollen’s or Fehling’s reagent
and does not decolourise bromine water also. On oxidation with chromic
acid (H,CrQO,), it gives a carboxy acid (B) with molecular formula

C7HgO,. Deduce the structure of A and B.

o Watch Video Solution

47. Hydration of an alkyne to get an aldehyde or ketone is possible in the
presence of

Hg?" ions and H,SO,

o Watch Video Solution

48. Hydration of an alkyne to get an aldehyde or ketone is possible in the
presence of

Hg?" ions and H,SO,

| o Wik L\ dan C Al iklmn
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49. Which of the following reacts with NaOH to produce an acid and an

alcohol ?

° Watch Video Solution

50. A compound X’ (CoH,O) on oxidation gives 'Y' (CyH40,). X'
undergoes haloform reaction. On treatment with HCN X' forms a product
'Z' which on hydrolysis gives 2-hydroxy propanoic acid. Write down

structures of X’ and Y.

° Watch Video Solution

51. A compound X (CyH,O) on oxidation gives 'Y' (CyH40,). X'
undergoes haloform reaction. On treatment with HCN X' forms a product
'Z' which on hydrolysis gives 2-hydroxy propanoic acid. Name the product

when X’ reacts with dil NaOH.

| e |
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I &J Watch Video Solution

52. A compound X (CyH,O) on oxidation gives 'Y' (CyH40,). X'
undergoes haloform reaction. On treatment with HCN X' forms a product
'Z' which on hydrolysis gives 2-hydroxy propanoic acid. Write down the

equations for the reactions involved.

° Watch Video Solution

OH -
53. Complete the following reaction : C¢ HsCHO + CH3COCH3s —

° Watch Video Solution

Zn/H
54. Complete the following reaction : C¢e HsCOCH3 —g

° Watch Video Solution
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HCl
55. Complete the following reaction : CH;CHO + (CH,OH), —

° Watch Video Solution

OH -
56. Complete the following reaction : CHsCHCHO —

° Watch Video Solution

Conc. KOH
57. Complete the following reaction : 2HCHO —

° Watch Video Solution

: . Pd, BaSO,
58. Complete the following reaction : CH3COCIl + Hy ———

° Watch Video Solution

(0]
59. Complete the following reaction : CHsCH = CHCH>;CH3 SN
Z’n,HzO
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° Watch Video Solution

60. Identify A and B in the following reaction.

Cl
g [l gl ISRl g

o Watch Video Solution

61. Identify A, B, C, and D in the following reaction

O
cH,c00H X8 4 % B
A A

o Watch Video Solution

62. Identify the compounds (A) (B), (C), (D) in the following sequence of

reactions:


https://dl.doubtnut.com/l/_F2TN0pkKzONR
https://dl.doubtnut.com/l/_uMx0XbXbFY3L
https://dl.doubtnut.com/l/_EBCVsKLQNvgy
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NH,
H,PO,/H,0

=278 K
NaNO,/HCI (273 SR O

CuCN | KCN

HYH, 0
(B) ——————»= ()

° Watch Video Solution

63. Complete the following reaction (giving major product)
P,B le. KOH HB
? = CH;CHCH, =~ 7 —,
| Peroxide
Br
° Watch Video Solution
64. Complete the following reaction (giving major product)

P,Br; alc. KOH HBr
? — CH3CHCH;3 > ? >
|

Peroxide

Br

o Watch Video Solution
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65. How will you bring about the following conversion in not more than
two steps ?

Benzoic acid to Benzaldehyde.

o Watch Video Solution

66. How will you bring about the following conversion in not more than
two steps ?

Ethylcyanide to 1- phenylpropanone.

o Watch Video Solution

67. An organic compound (A) has molecular formula (C5H,0O) gave a
positive 2, 4-DNP test but a negative Tollen’s reagent test. It was oxidized
to carboxylic acid (B) with molecular formula (C3HgO;) when treated
with alkaline KMnQO, under vigorous conditions. Sodium salt of (B) gave
a hydrocarbon (C) in Kolbe's electrolytic reduction. Identify (A), (B) and (C)

and write the reactions involved.


https://dl.doubtnut.com/l/_cqUCI7SOUCdd
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° Watch Video Solution

68. Draw the structure of allylic chloride.

° Watch Video Solution

69. Draw the structure of 2-bromo-2-methylpropane

° Watch Video Solution

70. Why do aldehydes and ketones have high dipole moments?

° Watch Video Solution

71. Sodium bisulphite is used for the purification of aldehydes and

ketones. Explain.

° Watch Video Solution
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72. In the preparation of acetaldehyde from ethyl alcohol, it is distilled

out as soon as it is formed. Explain.

° Watch Video Solution

73. Why oxidation of toluene with CrOj3 to benzaldehyde is carried out in

the presence of acetic anhydride.

° Watch Video Solution

74. Aliphatic aldehydes do not show position isomers. Why?

° Watch Video Solution

75. Aldehydes have lower boiling points than the corresponding alcohols.

Explain.

| e |
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76. Distinguish between C¢HsCH = CH — COCH; and

CsH;CH = CHCOCH,CHj

° Watch Video Solution

77.Formalin is

° Watch Video Solution

78. Give the different products obtained when but-1-yne undergoes

Hydroboration oxidation reaction.

° Watch Video Solution

79. Give the different products obtained when but-1-yne undergoes

Hydration in the presence of Hg®> " and H .
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° Watch Video Solution

80. Write the chemical equation for the following conversion

Acetaldehyde to butane-1,3-diol .

° Watch Video Solution

81. Write the chemical equation for the following conversion : Acetone to

propene.

° Watch Video Solution

82. Arrange the following in the increasing order of their reactivity in

nucleophilic addition reactions. CH3CHO, CiHsCHO, HCHO

° Watch Video Solution
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83. Explain with the help chemical reaction: Two molecules of

benzaldehyde are treated with conc. NaOH.

° Watch Video Solution

84. Write the product in the

(i) DIBAL-H
CH;CH,CH = CH — CH,CN #)
i) HyO

following reaction:

o Watch Video Solution

85. How will you convert the following ? Give chemical equation : Butan-1-

ol to butanoic acid.

o Watch Video Solution

86. How will you convert the following ? Give chemical equation :

Cyclohexene to Hexane-1, 6-diotc acid.



https://dl.doubtnut.com/l/_23duIJ5WaUJW
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l ) Watch Video Solution J

87. How will you convert the following ? Give chemical equation : Benzyl

alcohol to phenyl ethanoic acid.

o Watch Video Solution

88. How will you convert the following ? Give chemical equation : 4-Methyl

acetophenone to benzene-1, 4-dicarboxylic acid.

o Watch Video Solution

89. How will you convert the following ? Give chemical equation : 3-

Nitrobromobenzene to 3-nitrobenzoic acid.

o Watch Video Solution
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90. How will you convert the following ? Give chemical equation : Butanal

to butanoic acid.

° Watch Video Solution

91. Complete the following statement- The food nutrient which is present

in banana, orange, oats etc. and provides mainly energy is called-

° Watch Video Solution

92. Explain the following statement- Carbohydrates provide energy.

° Watch Video Solution

93. Name the reagents used in the following reactions :

CH3
. |
CH,COCH; —- CH; — ¢ - CH,

OH

(e |
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94. Name the reagents used in the following reactions :

CH,COOH —- CICH, — COOH

o Watch Video Solution

95. Predict the products of the following reaction
(i) HyNNH.
CH;— C =0 RN
| (i1) KOH / glycol , A
CH;
° Watch Video Solution
96. Predict the products of the following reaction

NaOH , I,
C(;H5COCH3 E—

° Watch Video Solution
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97. Predict the products of the following reaction

NaOH / CaO
CH3 COONCE T>

o Watch Video Solution

NH3/ A
98. Predict the products of the following reaction : CH;COOH R

o Watch Video Solution

99. Predict the products of the following reaction

(a) KMnO4s/ KOH
06H5CH20H3 >
(b)H*

° Watch Video Solution

100. Predict the products of the following reaction

HCON
CH; - C =0 —
|
CHj

| ° Wiak A \tAAaA CAlLiikiAan
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101. Discuss the reactions for the preparation of benzoic acid from ethyl

benzene.

° Watch Video Solution

102. How is benzoic acid converted into aniline ?

° Watch Video Solution

103. How is benzoic acid converted into benzoic anhydride?

° Watch Video Solution

104. How is benzoic acid converted into aniline ?

° Watch Video Solution
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https://dl.doubtnut.com/l/_TMsvPtn4yXiK
https://dl.doubtnut.com/l/_YkQC3a0FkHIx
https://dl.doubtnut.com/l/_gk1qjKplH5Hp
https://dl.doubtnut.com/l/_QHnLo3M4Rj9D

105. Describe how the following conversions are carried out : Toluene to

benzoic acid .

° Watch Video Solution

106. Describe how the following conversions are carried out : Butan-1-ol to

butanoic acid.

° Watch Video Solution

107. Describe how the following conversions are carried out : Ethylcyanide

to ethanoic acid.

° Watch Video Solution

108. Describe how the following conversions are carried out : Butan-1-ol to

butanoic acid.

| e |
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| & Watch Video Solution

109. How will you convert acetic acid to malonic acid ?

o Watch Video Solution

110. How will you convert acetic acid to glycine ?

o Watch Video Solution

111. How will you convert benzoic acid to aniline?

o Watch Video Solution

112. Convert acetic acid into acetone

o Watch Video Solution
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113. How to convert acetic acid to ethylamine.

° Watch Video Solution

114. How will you make the following conversion ?

Ethanoic acid to propanoic acid .

° Watch Video Solution

115. How will you carry out the following conversion?

'NH, NO,

i
e
 a NO,

° Watch Video Solution
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116. How will you make the following conversion ?

Ethanoic acid to propanoic acid .

o Watch Video Solution

117. How will you make the following conversion ?

Acetic acid to acetaldehyde.

o Watch Video Solution

118. How will you make the following conversion ?

Ethanoic acid to propanoic acid .

o Watch Video Solution

119. Draw the structure of succinic acid

o Watch Video Solution
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120. Write the IUPAC name of HOOC-COOH.

o Watch Video Solution

121. Write the IUPAC name of COOH — CH, — COOH .

o Watch Video Solution

122. Why are the boiling points of carboxylic acids higher than the

corresponding alcohols ?

o Watch Video Solution

123. Carboxylic acids do not give the characteristic reactions of carbonyl

group. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_rtDG0dmuEqRU
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124. Formic acid can reduce: Tollen's reagent, Mercuric chloride, Potassium

permanganate, All.

° Watch Video Solution

125. Me3sCCHy — COOH is more acidic than Me3 SICH,COOH.

° Watch Video Solution

126. Acetic acid can be halogenated in the presence of red P and Cl, but

formic acid cannot be halogenated in the same way.

° Watch Video Solution

127. Draw the structure of 2-bromo-2-phenylpropane

° Watch Video Solution



https://dl.doubtnut.com/l/_bTg3NUfBN1zg
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128. Draw the structure of 3-chlorocyclohexene

o Watch Video Solution

129. Why are bond length of C = O in carboxylic acid is slightly larger than

that in aldehyde and ketone ?

o Watch Video Solution

130. What is glacial acetic acid ?

o Watch Video Solution

131. Suggest a method for the preparation of phenyl acetic acid using a

suitable Grignard reagnet.

o Watch Video Solution
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132. Write the structure of isobutylchloride

° Watch Video Solution

133. Arrange the following compounds in increasing order of their
property as indicated:
CH;CH,CH(Br)COOH,CH3;CH(Br)CH,COOH, (CHs),CHOOH, C.

(acidic strength).

° Watch Video Solution

134. Arrange the following compounds in increasing order of their
property as indicated: Benzoic acid, 4- nitrobenzoic acid, 3, 4-

dinitrobenzoic acid, 4-methoxy benzoic acid (acid strength)

° Watch Video Solution



https://dl.doubtnut.com/l/_z2iRhQ5g13yh
https://dl.doubtnut.com/l/_gK3v04U1pyST
https://dl.doubtnut.com/l/_NEZEdpRQtD2x

135, Name A and B in the following reaction

Cl,,P KCN H* ,H,O
CH,COOH > > > A

o Watch Video Solution

136. Name the product in the following reaction

heatCH;COCH.
CH,CH,Cl + NI 222090

o Watch Video Solution

137. Draw the structure of 3-bromo-3-methylbut-1-yne

o Watch Video Solution

138. Write the structure of the following compound : 3-Hydroxybutanal .

o Watch Video Solution



https://dl.doubtnut.com/l/_P6W4S5VHQTst
https://dl.doubtnut.com/l/_CcJcjfS0ITTA
https://dl.doubtnut.com/l/_pXfWAFoh5FFp
https://dl.doubtnut.com/l/_hi6yT5JebHlV
https://dl.doubtnut.com/l/_9s4fR8rHvq4u

139. Write the structure of the following compound : 2-Hydroxy-3-

cyclopentylbutanal

o Watch Video Solution

140. Write the structure of the following compound : 4-Oxopentanal.

o Watch Video Solution

141. Write the structure of the following compound : Di-sec-butyl ketone .

o Watch Video Solution

142. Write the structure of the following compound : 4-

Fluoroacetophenone.

o Watch Video Solution



https://dl.doubtnut.com/l/_9s4fR8rHvq4u
https://dl.doubtnut.com/l/_fSNuUSGYHTnA
https://dl.doubtnut.com/l/_qWt556sCjK6U
https://dl.doubtnut.com/l/_2HHwrSkChsc6
https://dl.doubtnut.com/l/_SP8m3pBT3a6B

143. Write the structure of products of the following reaction :

(06H5CH2)2Cd + 20H3000l —

° Watch Video Solution

144. Write the structure of products of the following reaction :

noperozide

H;C - HC =CH, + HCl ———

° Watch Video Solution

145. Arrange the following compounds in the increasing order of their
boiling points :

CH;CHO, CH;CH,OH, CH3;0CH3, CH3CH,CHj,

° Watch Video Solution

146. Write the structure of products of the following reaction :

Peroxide

H;C - HC=CH —-CH; + HCl ——


https://dl.doubtnut.com/l/_SP8m3pBT3a6B
https://dl.doubtnut.com/l/_QsA9JAtdTap7
https://dl.doubtnut.com/l/_fbpZrtlCn7e1
https://dl.doubtnut.com/l/_xtvi3nxNRWKA

° Watch Video Solution

147. Arrange the following carbonyl compounds in the increasing order of
their reactivity in nucleophilic addition reactions : Benzadehyde, p-

tolualdehyde, p-nitrobenzaldehyde, acetophenone.

° Watch Video Solution

148. Express 3528 in roman numbers.

° Watch Video Solution

149. Give the IUPAC name of the following compound

PhCH,CH,COOH

° Watch Video Solution



https://dl.doubtnut.com/l/_xtvi3nxNRWKA
https://dl.doubtnut.com/l/_QWjZxbipoiPG
https://dl.doubtnut.com/l/_U465PzjkLJV2
https://dl.doubtnut.com/l/_ed8V3djdiGpL

150. Give the IUPAC name of the following compound

(CH;),C = CHCOOH

° Watch Video Solution

151. Show how the following compound could be converted to benzoic

acid : Ethylbenzene .

° Watch Video Solution

152. Show how the following compound could be converted to benzoic

acid : Acetophenone.

° Watch Video Solution

153. Describe how the following conversions are carried out

Bromobenzene to benzoic acid.

| e |


https://dl.doubtnut.com/l/_RpFfznhf5Nsk
https://dl.doubtnut.com/l/_yf366MAgWXrt
https://dl.doubtnut.com/l/_Dz4Yvkb9So8s
https://dl.doubtnut.com/l/_RdumFfG6jrN7

l & Watch Video Solution J

154. Show how the following compound could be converted to benzoic

acid : Phenylethene (Styrene).

° Watch Video Solution

155. Which acid of pair shown here would you expect to be stronger ?

CH3002H or CH2F002H

° Watch Video Solution

156. Which acid of pair shown here would you expect to be stronger ?

CH2FCO2H or CHzClCOzH

° Watch Video Solution



https://dl.doubtnut.com/l/_RdumFfG6jrN7
https://dl.doubtnut.com/l/_F08mTkrI7nrx
https://dl.doubtnut.com/l/_EzaBfBbCmfgv
https://dl.doubtnut.com/l/_Oax87QPDAyDk

157. Which acid of pair shown here would you expect to be stronger ?

CH2FCH20H2002H or CH3CHFCH2002H

° Watch Video Solution

158. What is meant by the following term? Give an example. Cyanohydrin .

° Watch Video Solution

159. What is meant by the following term? Give an example.

Semicarbazone .

° Watch Video Solution

160. What is meant by the following term? Give an example. Hemiacetal .

° Watch Video Solution



https://dl.doubtnut.com/l/_RYbyEKRxAm38
https://dl.doubtnut.com/l/_Ni2YJOuZRCHt
https://dl.doubtnut.com/l/_HId3cSPQOs3t
https://dl.doubtnut.com/l/_UoKesE8EgUwV
https://dl.doubtnut.com/l/_2b1CmzL2PBEa

161. What is meant by the following term? Give an example. Ketal.

o Watch Video Solution

162. Express 3530 in roman numbers.

o Watch Video Solution

163. Express 3531 in roman numbers.

o Watch Video Solution

164. Express 3532 in roman numbers.

o Watch Video Solution

165. Express 3533 in roman numbers.



https://dl.doubtnut.com/l/_2b1CmzL2PBEa
https://dl.doubtnut.com/l/_fUE1cJW2gUzr
https://dl.doubtnut.com/l/_6X93XTS30KRm
https://dl.doubtnut.com/l/_ltLkx1r0gJDi
https://dl.doubtnut.com/l/_uVF2NHSnMT3P

_ o Watch Video Solution

166. Express 3535 in roman numbers.

o Watch Video Solution

167. Express 3536 in roman numbers.

o Watch Video Solution

168. Express 3537 in roman numbers.

o Watch Video Solution

169. Express 3538 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_uVF2NHSnMT3P
https://dl.doubtnut.com/l/_ukgHHmT75obF
https://dl.doubtnut.com/l/_9qoXtvSUXRBv
https://dl.doubtnut.com/l/_zvmEMqO54pxQ
https://dl.doubtnut.com/l/_RXjBMOPddCo6
https://dl.doubtnut.com/l/_toCqtWcZkUza

170. Express 3550 in roman numbers.

o Watch Video Solution

171. Express 3551 in roman numbers.

o Watch Video Solution

172. Express 3552 in roman numbers.

o Watch Video Solution

173. Express 3553 in roman numbers.

o Watch Video Solution

174. Express 3555 in roman numbers.



https://dl.doubtnut.com/l/_toCqtWcZkUza
https://dl.doubtnut.com/l/_tNSj1BCXavJc
https://dl.doubtnut.com/l/_3pTZtyFZE65x
https://dl.doubtnut.com/l/_mrzJJ7C4w2j0
https://dl.doubtnut.com/l/_Wu7FhOFkNDyu

_ o Watch Video Solution

175. Express 3556 in roman numbers.

o Watch Video Solution

176. Express 3557 in roman numbers.

o Watch Video Solution

177. Express 3558 in roman numbers.

o Watch Video Solution

178. Express 3560 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wu7FhOFkNDyu
https://dl.doubtnut.com/l/_QHJg0lb7BUEn
https://dl.doubtnut.com/l/_zGSNw5bT00Ca
https://dl.doubtnut.com/l/_VMNfciitmHPp
https://dl.doubtnut.com/l/_SZVem9iINNjr
https://dl.doubtnut.com/l/_Tp3n8kz7t2W1

179. Express 3561 in roman numbers.

o Watch Video Solution

180. Express 3562 in roman numbers.

o Watch Video Solution

181. Express 3563 in roman numbers.

o Watch Video Solution

182. Express 3565 in roman numbers.

o Watch Video Solution

183. Express 3566 in roman numbers.



https://dl.doubtnut.com/l/_Tp3n8kz7t2W1
https://dl.doubtnut.com/l/_vzd31EQ1mUwu
https://dl.doubtnut.com/l/_QXds5gQNR1rz
https://dl.doubtnut.com/l/_UE8avpPu8QBj
https://dl.doubtnut.com/l/_4jdeLLbiIIYi

_ o Watch Video Solution

184. Express 3567 in roman numbers.

o Watch Video Solution

185. Express 3568 in roman numbers.

o Watch Video Solution

186. Express 3570 in roman numbers.

o Watch Video Solution

187. Express 3571 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_4jdeLLbiIIYi
https://dl.doubtnut.com/l/_KEbltwidFLvL
https://dl.doubtnut.com/l/_I8PxzOiPXqbD
https://dl.doubtnut.com/l/_YG8zELrw6m8N
https://dl.doubtnut.com/l/_w1qWbYpyz3jz
https://dl.doubtnut.com/l/_3IxZz1TPzCQb

188. Express 3572 in roman numbers.

o Watch Video Solution

189. Express 3573 in roman numbers.

o Watch Video Solution

190. Draw  structure of the  following derivative

Acetaldehydedimethylacetal .

o Watch Video Solution

191. Draw structure of the following derivative : The semicarbazone of

cyclobutanone.

o Watch Video Solution



https://dl.doubtnut.com/l/_3IxZz1TPzCQb
https://dl.doubtnut.com/l/_NfeecZ3BYhru
https://dl.doubtnut.com/l/_RHP6o4EcA7xU
https://dl.doubtnut.com/l/_RU1M8NwgludS
https://dl.doubtnut.com/l/_wTSLQ2Z3eb5A

192. Express 3575 in roman numbers.

° Watch Video Solution

193. Draw structure of the following derivative : The methyl hemiacetal of

formaldehyde.

° Watch Video Solution

194. Predict the product formed when cyclohexanecarbaldehyde reacts

with following reagent : PhMgBr and then H;O ™" .

° Watch Video Solution

195. Predict the product formed when cyclohexanecarbaldehyde reacts

with following reagent : Tollen’s reagent.

° Watch Video Solution



https://dl.doubtnut.com/l/_wTSLQ2Z3eb5A
https://dl.doubtnut.com/l/_ByeQcEfiWoAo
https://dl.doubtnut.com/l/_3swz5M5vPzTU
https://dl.doubtnut.com/l/_xRBEmaxHqBjb

196. Predict the product formed when cyclohexanecarbaldehyde reacts

with following reagent : Semicarbazide and weak acid.

° Watch Video Solution

197. Predict the product formed when cyclohexanecarbaldehyde reacts

with following reagent : Excess ethanol and acid.

° Watch Video Solution

198. Predict the product formed when cyclohexanecarbaldehyde reacts

with following reagent : Zinc amalgam and dilute hydrochloric acid.

° Watch Video Solution

199. Which of the following compounds would undergo aldol

condensation, which the Cannizzaro's reaction and which neither ? Write


https://dl.doubtnut.com/l/_kczKQOH4Z4aF
https://dl.doubtnut.com/l/_Yp0COSNiEWl1
https://dl.doubtnut.com/l/_TNEtAWzKBEF2
https://dl.doubtnut.com/l/_j6gq2D4OjJ9I

the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Methanal .

o Watch Video Solution

200. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro reaction and which neither ? Write
the structures of the expected products of aldol condensation and
Cannizzaro reaction ?

2-Methylpentanal.

o Watch Video Solution

201. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro reaction and which neither ? Write
the structures of the expected products of aldol condensation and
Cannizzaro reaction ?

Benzaldehyde .

. l


https://dl.doubtnut.com/l/_j6gq2D4OjJ9I
https://dl.doubtnut.com/l/_QsROpHXjxdQ7
https://dl.doubtnut.com/l/_UwsN5bR6GM7H

| ¥ vvatch vidaeo sSolution J

202. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Benzophenone .

o Watch Video Solution

203. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro reaction and which neither ? Write
the structures of the expected products of aldol condensation and
Cannizzaro reaction ?

Cyclohexanone.

o Watch Video Solution



https://dl.doubtnut.com/l/_UwsN5bR6GM7H
https://dl.doubtnut.com/l/_uznvPszv4Y07
https://dl.doubtnut.com/l/_fBF2ERFSYR5P

204. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : 1-Phenyl propanone.

o Watch Video Solution

205. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Phenyl acetaldehyde.

o Watch Video Solution

206. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro reaction and which neither ? Write

the structures of the expected products of aldol condensation and


https://dl.doubtnut.com/l/_bMCduVA2z1Ux
https://dl.doubtnut.com/l/_XEiYRK3va7mE
https://dl.doubtnut.com/l/_zoKXMVzUdvxq

Cannizzaro reaction ?

Butan-1-ol.

° Watch Video Solution

207. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : 2, 2-Dimethyl butanal.

° Watch Video Solution

208. How will you convert ethanal into the following compound ?

Butane-1,3-diol.

° Watch Video Solution



https://dl.doubtnut.com/l/_zoKXMVzUdvxq
https://dl.doubtnut.com/l/_JDB2RkJsyJL7
https://dl.doubtnut.com/l/_djwbriwWG019

209. How will you convert ethanal into the following compound ?

But-2-enal.

° Watch Video Solution

210. How will you convert ethanal into the following compound ?

But-2-enoic acid.

° Watch Video Solution

211. Write structural formulas and names of the four possible aldol
condensation products from propanal and butanal. In each case, indicate

which aldehyde served as nucleophile and which as electrophile.

° Watch Video Solution



https://dl.doubtnut.com/l/_KC1Fg8jO5x07
https://dl.doubtnut.com/l/_EUbnNPjoVyZH
https://dl.doubtnut.com/l/_lW2bUSXsx1th

212. Arrange the following compounds in increasing order of their
property as indicated: Acetaldehyde, acetone, di tert-butyl ketone, tert-

butylmethyl ketone (reactivity towards HCN)

° Watch Video Solution

213. Arrange the following compounds in increasing order of their
property as indicated:
CH;CH,CH(Br)COOH,CH3;CH(Br)CH,COOH, (CHs3),CHOOH, C.

(acidic strength).

° Watch Video Solution

214. Arrange the following compounds in increasing order of their
property as indicated: Benzoic acid, 4- nitrobenzoic acid, 3, 4-

dinitrobenzoic acid, 4-methoxy benzoic acid (acid strength)

° Watch Video Solution



https://dl.doubtnut.com/l/_QwfiVeshsIzr
https://dl.doubtnut.com/l/_ZOoLOyyn1PWA
https://dl.doubtnut.com/l/_jGKaF3UHti1I

215. Give simple chemical tests to distinguish between the following pairs

of compounds: Propanal and propanone.

° Watch Video Solution

216. Give simple chemical tests to distinguish between the following pairs
of compounds.

Acetophenone and Benzophenone

° Watch Video Solution

217. Give simple chemical tests to distinhuish between the following pairs
of compounds

Phenol and Benzoic acid

° Watch Video Solution



https://dl.doubtnut.com/l/_V8cqY2isA9KV
https://dl.doubtnut.com/l/_7i92t5oxsgvX
https://dl.doubtnut.com/l/_jQOShHAbq1Qj

218. Give simple chemical tests to distinguish between the following pairs

of compounds: Benzoic acid and Ethyl benzoate.

° Watch Video Solution

219. Express 3608 in roman numbers.

° Watch Video Solution

220. Give simple chemical tests to distinguish between the following pairs

of compounds: Benzaldehyde and Acetophenone.

° Watch Video Solution

221. Give simple chemical tests to distinguish between the following pairs
of compounds.

Ethanal and Propanal

| e |


https://dl.doubtnut.com/l/_si5ZJWFWwMCw
https://dl.doubtnut.com/l/_ZFqGeYWDf6JL
https://dl.doubtnut.com/l/_WI6TBgvkkUvz
https://dl.doubtnut.com/l/_Qk3AzRTZJdtT

I &J Watch Video Solution

222. How will you prepare the following compound from benzene ? You
may use any inorganic reagent and any organic reagent having not more
than one carbon atom.

Methyl benzoate.

° Watch Video Solution

223. How will you prepare the following compound from benzene ? You
may use any inorganic reagent and any organic reagent having not more
than one carbon atom.

m-Nitrobenzoic acid.

° Watch Video Solution

224. How will you prepare the following compound from benzene ? You

may use any inorganic reagent and any organic reagent having not more


https://dl.doubtnut.com/l/_Qk3AzRTZJdtT
https://dl.doubtnut.com/l/_rbgnJkjDbrRh
https://dl.doubtnut.com/l/_4zF09MRocLJQ
https://dl.doubtnut.com/l/_bbUzQbFg5HlD

than one carbon atom.

p-Nitrobenzoic acid.

° Watch Video Solution

225. How will you prepare the following compound from benzene ? You
may use any inorganic reagent and any organic reagent having not more
than one carbon atom.

Phenylacetic acid .

° Watch Video Solution

226. How will you prepare the following compound from benzene ? You
may use any inorganic reagent and any organic reagent having not more
than one carbon atom.

p-Nitrobenzaldehyde.

° Watch Video Solution



https://dl.doubtnut.com/l/_bbUzQbFg5HlD
https://dl.doubtnut.com/l/_MWtPh2zgpeSn
https://dl.doubtnut.com/l/_71Tl83IBrzDt
https://dl.doubtnut.com/l/_HgnOw7dqoipU

227. How will you bring about the following conversion in not more than
two steps ?

Propanone to propene.

° Watch Video Solution

228. How will you bring about the following conversion in not more than
two steps ?

Benzoic acid to Benzaldehyde.

° Watch Video Solution

229. Express 3610 in roman numbers.

° Watch Video Solution

230. How will you bring about the following conversion in not more than

two steps ?


https://dl.doubtnut.com/l/_HgnOw7dqoipU
https://dl.doubtnut.com/l/_6T0WeD19dkE6
https://dl.doubtnut.com/l/_izKWiN2R1dbe
https://dl.doubtnut.com/l/_OBLKZITVpQTk

Benzene to m-Nitroacetophenone.

° Watch Video Solution

231. How will you bring about the following conversion in not more than
two steps ?

Benzaldehyde to benzophenone..

° Watch Video Solution

232. How will you bring about the following conversion in not more than
two steps ?

Bromobenzene to 1-Phenylethanol.

° Watch Video Solution

233. How will you bring about the following conversion in not more than

two steps ?


https://dl.doubtnut.com/l/_OBLKZITVpQTk
https://dl.doubtnut.com/l/_iCgYw60FxTYi
https://dl.doubtnut.com/l/_DukaGkmfWzrY
https://dl.doubtnut.com/l/_nuXJBTUiKAJg

Benzaldehyde to 3-Phenylpropan-1-ol.

° Watch Video Solution

234. How will you bring about the following conversion in not more than
two steps ?

Benzaldehyde to o-hydroxyphenylacetic acid.

° Watch Video Solution

235. Describe the following : Acetylation .

° Watch Video Solution

236. Write Cannizzaro reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_nuXJBTUiKAJg
https://dl.doubtnut.com/l/_eo4miR3Pxhik
https://dl.doubtnut.com/l/_ZN71BCySaDOD
https://dl.doubtnut.com/l/_PKhHVhA1BvWf

237. Write cross aldol condensation.

° Watch Video Solution

238. Define the following terms: decarboxylation

° Watch Video Solution

239. Complete synthesis by giving missing starting material, reagent or

products

H NCONHN H-
CsH;,CHO "%

° Watch Video Solution

240. Complete synthesis by giving missing starting material, reagent or

products

C¢H;CHO + CH;CH,CHO %f

| e |


https://dl.doubtnut.com/l/_LAXllfhfplk6
https://dl.doubtnut.com/l/_vpeXSeQ5pAS7
https://dl.doubtnut.com/l/_hoF1clcL5zFn
https://dl.doubtnut.com/l/_enbe3D3785gX

I & Watch Video Solution

241. Complete synthesis by giving missing starting material, reagent or

products
(i) NaBH,
CH3;COCH,COOC,Hj5 T
i) H+

o Watch Video Solution

242. Give plausible explanation for of the following : Cyclohexanone forms

cyanohydrin in good yield but 2,2,6-trimethylcyclohexanone does not.

o Watch Video Solution

243. Give plausible explanation for of the following : There are two
— NH, groups in semicarbazide. However, only one is involved in the

formation of semicarbazones.

o Watch Video Solution



https://dl.doubtnut.com/l/_enbe3D3785gX
https://dl.doubtnut.com/l/_GZpUukcD8DZQ
https://dl.doubtnut.com/l/_w4poqaniACJi
https://dl.doubtnut.com/l/_ustzNZWOMO5F

244. Give plausible explanation for of the following : During the
preparation of esters from a carboxylic acid and an alcohol in the
presence of an acid catalyst, the water or the ester should be removed as

soon as it is formed.

° Watch Video Solution

245. Express 3576 in roman numbers.

° Watch Video Solution

246. Although phenoxide ion has more number of resonating structures

than carboxylate ion, carboxylic acid is a strong acid than phenol. Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_f4UzOED99pZ5
https://dl.doubtnut.com/l/_yoBihGuP1JzD
https://dl.doubtnut.com/l/_JuvLCWODZejj

247. Why is there a large difference in the boiling points of butanal and

butan-1-ol?

° Watch Video Solution

248. Give one chemical test of distinguish between Pentanone-2 and

Pentanone-3.

° Watch Video Solution

249. Give the IUPAC name of the following compound

CH3—CH2—ﬁ'—CH2—CHO
(0]

o Watch Video Solution

250. Give the IUPAC name of the following compound

CH; - CH =CH - CHO



https://dl.doubtnut.com/l/_dNqvtj48yQUy
https://dl.doubtnut.com/l/_aAGzXFcjEbLh
https://dl.doubtnut.com/l/_BYz2lM5N7xne
https://dl.doubtnut.com/l/_6ya4OoQTD0C8

° Watch Video Solution

251. Give the structure of the following compound : 4-
Nitropropiophenone.

° Watch Video Solution

252. Give the structure of the following compound : 2-

Hydroxycyclopentanecarbaldehyte.

° Watch Video Solution

253. Give the structure of the following compound : Phenyl acetaldehyde.

° Watch Video Solution

254. Write IUPAC name of the following structure : CHO

|
CHO


https://dl.doubtnut.com/l/_6ya4OoQTD0C8
https://dl.doubtnut.com/l/_C2XpHue5M36H
https://dl.doubtnut.com/l/_gdxR965LyOwR
https://dl.doubtnut.com/l/_3xV9nwpFF2nz
https://dl.doubtnut.com/l/_XcE3xBH6ZbVe

° Watch Video Solution

255.Benzaldehyde can be obtained from benzal chloride. Write reactions

for obtaining benzalchloride and then benzaldehyde from it.

° Watch Video Solution

256. Name the electrophile produced in the reaction of benzene with
benzoyl chloride in the presence of anhydrous AlICl3. Name the reaction

also.

° Watch Video Solution

257. Express 3577 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_XcE3xBH6ZbVe
https://dl.doubtnut.com/l/_yo9HmXAtoXtc
https://dl.doubtnut.com/l/_9Ohn1dlzF4j8
https://dl.doubtnut.com/l/_9tuB9jYzFnfY

258. Arrange the following in decreasing order of their acidic strength
and give reason for your answer. 'CH 3CH 20H, CH 3COOH, CICH 2COOH,

FCH_2COOH

o Watch Video Solution

259. What product will be formed on reaction of propanal with 2-
methylpropanal in the presence of NaOH? What products will be formed?

Write the name of the reaction also.

o Watch Video Solution

260. Compound ‘A was prepared by oxidation of compound ‘B’ with
alkaline KMnO,. Compound ‘A on reduction with lithium aluminium
hydride gets converted back to compound ‘B’. When compound A’ is
heated with compound B in the presence of HyS50, it produces fruity
smell of compound C to which family the compounds ‘A, 'B' and ‘C' belong

to?


https://dl.doubtnut.com/l/_Hogg8YiCoWWm
https://dl.doubtnut.com/l/_Kphw23hPlyvw
https://dl.doubtnut.com/l/_f4SrUDuddBDb

° Watch Video Solution

261. Express 3637 in roman numbers.

° Watch Video Solution

262. Carboxylic acids contain carbonyl group but do not show the

nucleophilic addition reaction like aldehydes or ketones. Why .

° Watch Video Solution

263. Identify the compounds A, B and C in the following reaction.

Mg/ ether (i) CO, CH30H /H*
CH; — Br —— (A) T} (B) 4> (C)
Water

° Watch Video Solution

264. Why carboxylic acids are more acidic than Phenols ?



https://dl.doubtnut.com/l/_f4SrUDuddBDb
https://dl.doubtnut.com/l/_UXDjwQdqmrpM
https://dl.doubtnut.com/l/_t20GnWOiDtIm
https://dl.doubtnut.com/l/_X745bwGxIDRT
https://dl.doubtnut.com/l/_FXRtZhEdWFsS

| ° Watch Video Solution

265. Complete the following reaction sequence.

o
[ (i) CH3MgBr Nametal CH;— Br

° Watch Video Solution

266. Complete the following statement- Vitamin A is required by the body

to-

° Watch Video Solution

267. Can Gatterman-Koch reaction be considered similar to Friedel Craft’s

acylation? Discuss.

° Watch Video Solution



https://dl.doubtnut.com/l/_FXRtZhEdWFsS
https://dl.doubtnut.com/l/_pJUSLcNkJRQI
https://dl.doubtnut.com/l/_KTDlc4TLdlyY
https://dl.doubtnut.com/l/_oVwZxvo9i3u5

268. Halogens are highly reactive. Explain.

o Watch Video Solution

269. Why is an amide more acidic than amine ?

o Watch Video Solution

270. Di-tert-butylketone does not give precipitate with NaHSO3 whereas

acetone does. Explain.

o Watch Video Solution

271. Which of the following is not used for the preparation of ketone ?

o Watch Video Solution



https://dl.doubtnut.com/l/_OF8VvZGwuavL
https://dl.doubtnut.com/l/_AypcnTr5BVDZ
https://dl.doubtnut.com/l/_cEEA7YMwTkgi
https://dl.doubtnut.com/l/_0WYexbzwJpGW

272.What is the function of Rochelle salt in Fehling’s solution ?

° Watch Video Solution

273. Aldehydes usually donot form stable hydrates but chloral normally

exists as chloral hydrate. Explain.

° Watch Video Solution

274. Why water cannot be separated completely from ethanol by

fractional distillation?

° Watch Video Solution



https://dl.doubtnut.com/l/_odrpNYzPMWnc
https://dl.doubtnut.com/l/_KWL3YpfncXue
https://dl.doubtnut.com/l/_3h8hfSdwLCxy

275. Identify A, B, C and D in the following reaction :

+ CH,coC] 24Kl ,

o Watch Video Solution

276. Draw structure of m-cresol

o Watch Video Solution

277. Draw structure of p-cresol

o Watch Video Solution

278. Draw structure of catechol

o Watch Video Solution



https://dl.doubtnut.com/l/_JVwsytaDhpNv
https://dl.doubtnut.com/l/_scVEC7qlt89c
https://dl.doubtnut.com/l/_gkMhQHmXbAw1
https://dl.doubtnut.com/l/_UJ4O2z9UeJ4Y

279. Explain the fact that the C-O bond length in RCOOH is shorter than in

ROH.

° Watch Video Solution

280. Highly branched carboxylic acids are less acidic than unbranched

acids. Why ?

° Watch Video Solution

281. Although p-hydroxy benzoic acid is less acidic than benzoic acid,
ortho hydroxy benzoic acid (salicylic acid) is about 15 times more acidic

than benzoic acid. Explain.

° Watch Video Solution

282, Draw structure of resorcinol


https://dl.doubtnut.com/l/_UJ4O2z9UeJ4Y
https://dl.doubtnut.com/l/_HNhS7TTY001m
https://dl.doubtnut.com/l/_9gaqBgjF0cGr
https://dl.doubtnut.com/l/_BdA552BituML
https://dl.doubtnut.com/l/_rgr9Rgi7RjGJ

° Watch Video Solution

283. Draw structure of quinol

° Watch Video Solution

284. Draw structure of pyrogallol

° Watch Video Solution

285. Draw structure of primary allyl alcohol

° Watch Video Solution

286. Draw structures of 3-bromo-5-chloro-3,5-dimethylheptane

° Watch Video Solution



https://dl.doubtnut.com/l/_rgr9Rgi7RjGJ
https://dl.doubtnut.com/l/_oa3v1AGZCsdb
https://dl.doubtnut.com/l/_yTNgq7NKiS0f
https://dl.doubtnut.com/l/_0LcaP9DQEUtV
https://dl.doubtnut.com/l/_1xBLYP3aXJTy
https://dl.doubtnut.com/l/_piAxlquS3s0U

287. Draw structures of 1-bromo-2,2-dimethylpropane

° Watch Video Solution

1. Express 3355 in roman numbers.

° Watch Video Solution

2. Express 3356 in roman numbers.

° Watch Video Solution

3. Give IUPAC name of the following : (CH3),CHCOCHj5

° Watch Video Solution



https://dl.doubtnut.com/l/_piAxlquS3s0U
https://dl.doubtnut.com/l/_0ngTrULqcJ8P
https://dl.doubtnut.com/l/_Eccc7zFK0KPl
https://dl.doubtnut.com/l/_EkwtzgaMbCdy
https://dl.doubtnut.com/l/_5DqznbQ8Ezmj

4. Give IUPAC name of the following :

COCH,

° Watch Video Solution



https://dl.doubtnut.com/l/_5DqznbQ8Ezmj

5. Express 3357 in roman numbers.

o Watch Video Solution

6. Give IUPAC name of the following :

CHO
CH,

g

(OH



https://dl.doubtnut.com/l/_Q5jp7uup79tX
https://dl.doubtnut.com/l/_7OxANiie8FJL

_ o Watch Video Solution

7. Express 3358 in roman numbers.

° Watch Video Solution

8. Give IUPAC name of the following :

° Watch Video Solution

9. Express 3360 in roman numbers.

| o Wik L\ dana C Al iklmn


https://dl.doubtnut.com/l/_7OxANiie8FJL
https://dl.doubtnut.com/l/_5vLJepsBidmR
https://dl.doubtnut.com/l/_0XLcpWWwPtAI
https://dl.doubtnut.com/l/_8kIEpmMneLco
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10. Express 3366 in roman numbers.

o Watch Video Solution

11. Express 3367 in roman numbers.

o Watch Video Solution

12. Express 3361 in roman numbers.

o Watch Video Solution

13. Express 3362 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_8kIEpmMneLco
https://dl.doubtnut.com/l/_b0hMzfikw7L9
https://dl.doubtnut.com/l/_Oft9lUvE0tGC
https://dl.doubtnut.com/l/_MGUCSGyUkDNo
https://dl.doubtnut.com/l/_UdW6lUtoaW5G
https://dl.doubtnut.com/l/_UGEkAjgeIB0r

14. Express 3363 in roman numbers.

o Watch Video Solution

15. Express 3365 in roman numbers.

o Watch Video Solution

16. Give the formula of metamer of CH3C HoCOCH,CH3;

o Watch Video Solution

17. Write the structural formula of the following : 3-Methylbutanal.

o Watch Video Solution

18. Draw the structure of the following compound : 4-Chloropentan-2-one.

| o WMl L\ dan C Al iklmn


https://dl.doubtnut.com/l/_UGEkAjgeIB0r
https://dl.doubtnut.com/l/_akyTLsXhljWy
https://dl.doubtnut.com/l/_T0gcPyMUQA6g
https://dl.doubtnut.com/l/_bhEgvm9z0T5u
https://dl.doubtnut.com/l/_hHW7fF6cvh8p
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19. Express 3368 in roman numbers.

o Watch Video Solution

20. Draw the structure of the following compound : p-Methyl

benzaldehyde.

o Watch Video Solution

21. Write the IUPAC name of the following

CH3CH = CHCHO

compound

o Watch Video Solution

22. Express 3370 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_hHW7fF6cvh8p
https://dl.doubtnut.com/l/_D3QcFqtw9m8R
https://dl.doubtnut.com/l/_rOL3vZ2YcqCD
https://dl.doubtnut.com/l/_ZatSVxavtJPI
https://dl.doubtnut.com/l/_zg3GQ7S9YzBe

23. Express 3371 in roman numbers.

o Watch Video Solution

24. Express 3372 in roman numbers.

o Watch Video Solution

25. Name the following compound according to IUPAC system of

nomenclature : CH3CH;COCH (C2Hs)CH>CH>Cl

o Watch Video Solution

26. Express 3385 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_zg3GQ7S9YzBe
https://dl.doubtnut.com/l/_Ripy8BnyorkU
https://dl.doubtnut.com/l/_qNxXC6nFtxYp
https://dl.doubtnut.com/l/_Rbu4bM3m6VMB
https://dl.doubtnut.com/l/_0NTFu6T3Odft

27. Express 3386 in roman numbers.

° Watch Video Solution

28. Express 3387 in roman numbers.

° Watch Video Solution

29. Express 3388 in roman numbers.

° Watch Video Solution

30. Express 3500 in roman numbers.

° Watch Video Solution

31. Express 3501 in roman numbers.


https://dl.doubtnut.com/l/_gpdUs2qSsHmn
https://dl.doubtnut.com/l/_81l2SvXyWz9q
https://dl.doubtnut.com/l/_ilTZ6f2MLGH1
https://dl.doubtnut.com/l/_QCDJ2TWkiyKu
https://dl.doubtnut.com/l/_OSOCzYo9mvGy

° Watch Video Solution

32. Express 3502 in roman numbers.

° Watch Video Solution

33. Explain the following statement- Sunlight is the key component of

photosynthesis.

° Watch Video Solution

34. How the gases are exchanged during the process of photosynthesis?

° Watch Video Solution

o)
35. Complete the following reaction : CH3CH = CHCH,CHj; Z—;(;
n,i1a

° Watch Video Solution



https://dl.doubtnut.com/l/_OSOCzYo9mvGy
https://dl.doubtnut.com/l/_Jw78OuCflFt8
https://dl.doubtnut.com/l/_fTQNPLHStkfc
https://dl.doubtnut.com/l/_CiqvzMWTgMXV
https://dl.doubtnut.com/l/_8IPZ4w7Hba9p

36. How will you obtain the following ?

O
—CH, from CH,CN

T —--n "

° Watch Video Solution

37. How will you obtain the following ?

| HO from HCN

o Watch Video Solution

38. Draw the structure of 4-bromopent-2-ene



https://dl.doubtnut.com/l/_8IPZ4w7Hba9p
https://dl.doubtnut.com/l/_lNOW5pEJ16Z5
https://dl.doubtnut.com/l/_yFrPjS3z0gVS
https://dl.doubtnut.com/l/_bwFZPlDjobHc

| ° Watch Video Solution

39. Express 3503 in roman numbers.

° Watch Video Solution

40. Complete the following statement- The nutrient which is the energy

source for the body is called-

° Watch Video Solution

41. Express 3505 in roman numbers.

° Watch Video Solution

42. Express 3506 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_bwFZPlDjobHc
https://dl.doubtnut.com/l/_rzeXG8f6vifk
https://dl.doubtnut.com/l/_Tq5QL1MlbnYN
https://dl.doubtnut.com/l/_UFsADNoxCjaI
https://dl.doubtnut.com/l/_eqTqsY1ai0oA

43. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Methanal .

° Watch Video Solution

44. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Benzophenone.

° Watch Video Solution

45. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro reaction and which neither ? Write

the structures of the expected products of aldol condensation and


https://dl.doubtnut.com/l/_eqTqsY1ai0oA
https://dl.doubtnut.com/l/_SE2buqSGz6k1
https://dl.doubtnut.com/l/_IdmmQb285sJe
https://dl.doubtnut.com/l/_EBHGGO5MxxVX

Cannizzaro reaction ?

Cyclohexanone.

o Watch Video Solution

46. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Methanal .

o Watch Video Solution

47. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro reaction and which neither ? Write
the structures of the expected products of aldol condensation and
Cannizzaro reaction ?

2-Methylpentanal.

o Watch Video Solution



https://dl.doubtnut.com/l/_EBHGGO5MxxVX
https://dl.doubtnut.com/l/_8Xj6pqcHKwk0
https://dl.doubtnut.com/l/_bj08miz1FBwX

48. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Butan-1-ol.

o Watch Video Solution

49. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Phenyl acetaldehyde.

o Watch Video Solution

50. Which of the following compounds would undergo aldol

condensation, which the Cannizzaro's reaction and which neither ? Write


https://dl.doubtnut.com/l/_bj08miz1FBwX
https://dl.doubtnut.com/l/_a3Syb1gtYfGL
https://dl.doubtnut.com/l/_3Fcom7PbTH0N
https://dl.doubtnut.com/l/_7iP6auTt8J0C

the structures of the expected products of aldol condensation and

Cannizzaro's reaction : 1-Phenyl propanone.

o Watch Video Solution

51. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : Methanal .

o Watch Video Solution

52. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro's reaction and which neither ? Write
the structures of the expected products of aldol condensation and

Cannizzaro's reaction : 2, 2-Dimethyl butanal.

o Watch Video Solution



https://dl.doubtnut.com/l/_7iP6auTt8J0C
https://dl.doubtnut.com/l/_SkZhGPmUc1Gi
https://dl.doubtnut.com/l/_qjumKfA9Dkt0
https://dl.doubtnut.com/l/_BUf1J11cQwUj

53. Write the name and structure of the product formed by the following

reaction : Addition of HCN to acetone.

° Watch Video Solution

54. Write the name and structure of the product formed by the following

reaction : Reaction of semicarbazide with formaldehyde.

° Watch Video Solution

55. Write the name and structure of the product formed by the following

reaction : Addition of Grignard reagent to butanone.

° Watch Video Solution

56. Write the name and structure of the product formed by the following

reaction : Reaction of acetophenone with hydrazine in strong base.

| ° Wiak~h \tAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_BUf1J11cQwUj
https://dl.doubtnut.com/l/_WpYM5dgMArTX
https://dl.doubtnut.com/l/_8ZwnqjAKkBCY
https://dl.doubtnut.com/l/_b0sFwqPO9YWe
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57. Write the name and structure of the product formed by the following

reaction : Reaction of PCl5 and propanone.

° Watch Video Solution

58. What is the order of reactivity of the following towards HCN ?

(iy CsHsCHO (i) Cs HsCOCy Hs (i) CH;CHO (iv) HCHO .

° Watch Video Solution

59. Predict the product of reaction of acetone with aniline.

° Watch Video Solution

60. Predict the product of reaction of RCHO with hydrazine in the

presence of KOH.


https://dl.doubtnut.com/l/_b0sFwqPO9YWe
https://dl.doubtnut.com/l/_H5w1SMZKgOqc
https://dl.doubtnut.com/l/_4g62hjW6hOLd
https://dl.doubtnut.com/l/_YtYwdjwYFJOZ
https://dl.doubtnut.com/l/_ALNpt6US6orW

° Watch Video Solution

61. Predict the product of reaction of formaldehyde with ammonia .

° Watch Video Solution

62. Predict the product of reaction of butanone with Li AlH,.

° Watch Video Solution

63. Predict the product of reaction of aldehyde with Tollen’s reagent.

° Watch Video Solution

64. Predict the product of reaction of acetone with KMnQj,.

° Watch Video Solution



https://dl.doubtnut.com/l/_ALNpt6US6orW
https://dl.doubtnut.com/l/_H0UWCPZPl6z8
https://dl.doubtnut.com/l/_Gco2bP5gOhoY
https://dl.doubtnut.com/l/_QI2wlh3IM22T
https://dl.doubtnut.com/l/_vbun3XSctDx7
https://dl.doubtnut.com/l/_g1zRebKxXYaZ

65. What Grignard reagent would use to make following conversion ?

Acetophenone to 2-phenyl-2-butanol.

° Watch Video Solution

66. What Grignard reagent would use to make following conversion ?

Cyclohexanone to 1-propyl cyclohexanol.

° Watch Video Solution

67. What Grignard reagent would use to make following conversion ?

Formaldehyde to benzyl alcohol.

° Watch Video Solution



https://dl.doubtnut.com/l/_g1zRebKxXYaZ
https://dl.doubtnut.com/l/_IkHhSxYdAb2n
https://dl.doubtnut.com/l/_ucB60aEaQyfV

68. What are A and B in the following reaction :

OH
HO +CH,COCH; ——— A

—

o Watch Video Solution

69. Express 3507 in roman numbers.

o Watch Video Solution

70. Express 3508 in roman numbers.

o Watch Video Solution

71. Express 3510 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_MQ1V7JsgUaam
https://dl.doubtnut.com/l/_pLuYGguUQ3fI
https://dl.doubtnut.com/l/_DEZb4qbog5K9
https://dl.doubtnut.com/l/_cp78dFErh5FV

72. Express 3511 in roman numbers.

o Watch Video Solution

73. Express 3512 in roman numbers.

o Watch Video Solution

74. Write the IUPAC name of the following : CH3CH = CHCOOH

o Watch Video Solution

75. Write the IUPAC name of the following : CHCH,CH,CH,COOH

o Watch Video Solution

76. Write the IUPAC name of the following : CeHsCH,CH,COOH


https://dl.doubtnut.com/l/_rT2IqqNbITgz
https://dl.doubtnut.com/l/_6yhjefmTfL3J
https://dl.doubtnut.com/l/_DmbXeoqQ1s8r
https://dl.doubtnut.com/l/_sK2jUQFyjPeB
https://dl.doubtnut.com/l/_0BnI2T5W4T3T

° Watch Video Solution

77. Write the IUPAC name of the following : (CH3),CCOOH

° Watch Video Solution

78. Write the IUPAC name of the following : CH3;CH,COCH,;COOH

° Watch Video Solution

79. Write the IUPAC name of the following : (CH3),CH,COOH

° Watch Video Solution

80. Write the IUPAC name of the following : CH; — CH — CH,COOH
|

OH

o Watch Video Solution



https://dl.doubtnut.com/l/_0BnI2T5W4T3T
https://dl.doubtnut.com/l/_AhRbUToUu0sR
https://dl.doubtnut.com/l/_QqTmaXljYUd2
https://dl.doubtnut.com/l/_iW38SPyKsQVL
https://dl.doubtnut.com/l/_KDHKuo7T4E2J

81. Give the structure of the following : Phenyl acetic acid.

o Watch Video Solution

82. Give the structure of the following : Trimethyl acetic acid.

o Watch Video Solution

83. Give the structure of the following : Iso-valeric acid.

o Watch Video Solution

84. Give the structure of the following : Malonic acid.

o Watch Video Solution

85. Give the structure of the following : Adipic acid.


https://dl.doubtnut.com/l/_jGIHEAxQsybQ
https://dl.doubtnut.com/l/_tgrVzibqXUJ3
https://dl.doubtnut.com/l/_6rjKNMjrH35K
https://dl.doubtnut.com/l/_fEQxaWz0Vutr
https://dl.doubtnut.com/l/_iZvvRpWipzhi

° Watch Video Solution

86. Write the IUPAC name of the following acid whose common name is

given : Isobutyric acid.

° Watch Video Solution

87. Write the IUPAC name of the following acid whose common name is

given : n-Valeric acid.

° Watch Video Solution

88. Write the IUPAC name of the following acid whose common name is

given : Succinic acid .

° Watch Video Solution



https://dl.doubtnut.com/l/_iZvvRpWipzhi
https://dl.doubtnut.com/l/_FE30D9FdhPw6
https://dl.doubtnut.com/l/_PnHp3Pfl9aL4
https://dl.doubtnut.com/l/_CEsfu5R9ALRs

89. Write the IUPAC name of the following acid whose common name is

given : Phenyl acetic acid.

° Watch Video Solution

90. Write the IUPAC name of the following acid whose common name is

given : Malonic acid.

° Watch Video Solution

91. Write the functional isomers of propanoic acid.

° Watch Video Solution

92. Draw the structure of the following : 3-Bromo-4-phenyl pentanoic acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_nV5NxBqQGb1c
https://dl.doubtnut.com/l/_oaN1JO2ww6yL
https://dl.doubtnut.com/l/_JikWfi3viGHp
https://dl.doubtnut.com/l/_NeTw9YHHg2xs
https://dl.doubtnut.com/l/_YSAVufdfLFsj

93. Draw the structure of the following : Hex-2-en-4-ynoic acid .

° Watch Video Solution

94. Write equation for the preparation of benzoic acid from the following

compound : benzyl alcohol.

° Watch Video Solution

95. Write equation for the preparation of benzoic acid from the following

compound : toluene.

° Watch Video Solution

96. Write equation for the preparation of benzoic acid from the following

compound : benzonitrile .

° Watch Video Solution



https://dl.doubtnut.com/l/_YSAVufdfLFsj
https://dl.doubtnut.com/l/_9NBMj2UYTJN2
https://dl.doubtnut.com/l/_STgHhEbwkr9s
https://dl.doubtnut.com/l/_TjOtgT0IU4tk

97. Write equation for the preparation of benzoic acid from the following

compound : ethyl benzene.

° Watch Video Solution

98. Write equation for the preparation of benzoic acid from the following

compound : benzo trichloride.

° Watch Video Solution

99. How will you prepare acetic acid from acetylene ?

° Watch Video Solution

100. How will you prepare butanoic acid from 1-propanol.

° Watch Video Solution



https://dl.doubtnut.com/l/_TjOtgT0IU4tk
https://dl.doubtnut.com/l/_tO8GXAzMW5bV
https://dl.doubtnut.com/l/_WbVRUIlzPw9t
https://dl.doubtnut.com/l/_1uPYtEuX9d3E
https://dl.doubtnut.com/l/_wtWjRdr2fhAX

101. How will you prepare benzoic acid from aniline.

° Watch Video Solution

102. How will you prepare ethanoic acid from carbon dioxide.

° Watch Video Solution

103. Complete the following reaction indicating the major product
formed

H+
06H5CN + HzO —

° Watch Video Solution

104. Complete the following reaction indicating the major product

formed


https://dl.doubtnut.com/l/_saguLSFJ5cLA
https://dl.doubtnut.com/l/_08SEZqCXnFr7
https://dl.doubtnut.com/l/_JLZE7YKP950D
https://dl.doubtnut.com/l/_fZUWdixdYAx3

CH,

KCr D?,H' .

i

b

CH,

o Watch Video Solution

105. Express 3513 in roman numbers.

o Watch Video Solution

106. Express 3515 in roman numbers.

o Watch Video Solution

107. Express 3516 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_fZUWdixdYAx3
https://dl.doubtnut.com/l/_mN73tWWD0CnB
https://dl.doubtnut.com/l/_Abf6mOY3eTTt
https://dl.doubtnut.com/l/_9hTBAd2pRvP8

108. Express 3517 in roman numbers.

o Watch Video Solution

109. Express 3518 in roman numbers.

o Watch Video Solution

110. How will you prepare ethyl bromide from propionic acid.

o Watch Video Solution

111. Express 3520 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_9hTBAd2pRvP8
https://dl.doubtnut.com/l/_fPHAa8WC9euQ
https://dl.doubtnut.com/l/_qY522DoZk5Zu
https://dl.doubtnut.com/l/_b7WS4qGZs4Ng
https://dl.doubtnut.com/l/_0j8ZGWMb7jR0

112. Express 3521 in roman numbers.

o Watch Video Solution

113. How will you prepare m-nitrobenzoic acid from benzoic acid.

o Watch Video Solution

114. Express 3522 in roman numbers.

o Watch Video Solution

115. Express 3523 in roman numbers.

o Watch Video Solution

116. Express 3525 in roman numbers.


https://dl.doubtnut.com/l/_jHzEuL4HTgxy
https://dl.doubtnut.com/l/_zLIeVJSuYd4m
https://dl.doubtnut.com/l/_3h1GGb2X1DIT
https://dl.doubtnut.com/l/_xO688Mu66FCv
https://dl.doubtnut.com/l/_rqdGYnz4qMoX

° Watch Video Solution

117. Express 3526 in roman numbers.

° Watch Video Solution

118. Express 3527 in roman numbers.

° Watch Video Solution

119. Which of the following is a stronger acid of the following pairs ?

CH,(Cl)CH,CH,COOH, CH;CH(Cl)CH,COOH

° Watch Video Solution

120. Complete the following statement- The nutrient which act as a fuel

for different parts of the body is called-



https://dl.doubtnut.com/l/_rqdGYnz4qMoX
https://dl.doubtnut.com/l/_m3dvZl1wVRZz
https://dl.doubtnut.com/l/_GI5CDBDQVORn
https://dl.doubtnut.com/l/_quWtfZLB99JV
https://dl.doubtnut.com/l/_k451VjKDEeqM

| ° Watch Video Solution

121. Which of the following is a stronger acid of the following pairs ?

m — N0206H4COOH, P — N0206H4COOH

° Watch Video Solution

122. Complete the following statement- The two food sources in which

carbohydrate is present are-

° Watch Video Solution

123. Which of the following is a stronger acid of the following pairs ?

m — OHC;tH,COOH,p — OHC¢H,COOH

° Watch Video Solution



https://dl.doubtnut.com/l/_k451VjKDEeqM
https://dl.doubtnut.com/l/_I7MnUgiuN8F5
https://dl.doubtnut.com/l/_iPmqVjvUjDoj
https://dl.doubtnut.com/l/_5UIHzTd4a1pW

124. Complete the following statement- The food nutrient whose main

motive is to provide energy to the body is-

° Watch Video Solution

125. Aldehydes and ketones react with electrophiles but not with

nucleophiles.

° Watch Video Solution

126. Express 3578 in roman numbers.

° Watch Video Solution

127. Acetaldehyde can be prepared by dry distillation of calcium acetate.

° Watch Video Solution



https://dl.doubtnut.com/l/_DBWgsXPed3uX
https://dl.doubtnut.com/l/_SljcGHhr9NuD
https://dl.doubtnut.com/l/_UqqkEYqlXF7N
https://dl.doubtnut.com/l/_hrr2WZQhK7ic
https://dl.doubtnut.com/l/_Cms0zp0Q93FY

128. Acetaldehyde can be reduced to ethane in the presence of LiAH,

o Watch Video Solution

129. Benzaldehyde cannot undergo Cannizzaro Reaction.

o Watch Video Solution

130. Aldehydes are easily oxidised than ketones.

o Watch Video Solution

131. True of False : Acetaldehyde cyanohydrin on hydrolysis gives lactic

acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_Cms0zp0Q93FY
https://dl.doubtnut.com/l/_Oo9b06og0mBZ
https://dl.doubtnut.com/l/_Xli5Ty22YvNt
https://dl.doubtnut.com/l/_95vQDLkSEQyT

132. Benzaldehyde reduces Fehling Solution.

o Watch Video Solution

133. Benzaldehyde forms addition product with sodium bisulphite but

acetopheuone does not.

o Watch Video Solution

134. ketones give nucleophilic addition reactions more readily.

o Watch Video Solution

135. Calcium formate on heating gives acetaldehyde.

o Watch Video Solution



https://dl.doubtnut.com/l/_lUWi1obE0El5
https://dl.doubtnut.com/l/_py1U5riyJy9X
https://dl.doubtnut.com/l/_aojAr98NQgkW
https://dl.doubtnut.com/l/_9I2vKw9HqiHu

136. The pK, Value of formic acid is smaller than that of acetic acid.

° Watch Video Solution

137.The carbon-oxygen bond lengths in formic acid are equal.

° Watch Video Solution

138. True of False : Nitration of benzoic acid gives m-nitrobenzoic acid.

° Watch Video Solution

ridine
139. Write the name of the product CH;CH>OH + SOCI; py—>

° Watch Video Solution

140. When benzoic acid is heated with soda lime, benzene is formed.


https://dl.doubtnut.com/l/_xpa57346rRpg
https://dl.doubtnut.com/l/_zhys9Ja90Gnw
https://dl.doubtnut.com/l/_qIsBVUlIC5E3
https://dl.doubtnut.com/l/_i5jNCQ5s6nif
https://dl.doubtnut.com/l/_WfXcqAUIiqUR

° Watch Video Solution

141. True or False : Acetate ion is a stronger base than methoxide ion.

° Watch Video Solution

142. True or False : Ethanoic acid liberates hydrogen with sodium metal.

° Watch Video Solution

143. Me3sCCHy — COOH is more acidic than Me3 SICH,COOH.

° Watch Video Solution

144. Formic acid gives Silver mirror test Tollen's reagent.

° Watch Video Solution



https://dl.doubtnut.com/l/_WfXcqAUIiqUR
https://dl.doubtnut.com/l/_Hz1iEJX74qKO
https://dl.doubtnut.com/l/_koiUSfIwPkuW
https://dl.doubtnut.com/l/_rG52UEHEppM3
https://dl.doubtnut.com/l/_pCkoHn8wVQBX
https://dl.doubtnut.com/l/_x1y369JoZxnz

145. Complete the missing links : Aldehydes form red precipitate with

Fehling solution of ... .

° Watch Video Solution

146. In carbonyl compounds the carbon atom involves ..

hybridisation.

° Watch Video Solution

147. Express 3580 in roman numbers.

° Watch Video Solution

OH

|
148. Write the name of the product CH; C HCH;3 + PC’l3_>

° Watch Video Solution



https://dl.doubtnut.com/l/_x1y369JoZxnz
https://dl.doubtnut.com/l/_sznOWznCiY4x
https://dl.doubtnut.com/l/_UjJqVY8tBE4J
https://dl.doubtnut.com/l/_Z6NSRlI8ynaf

149. Express 3581 in roman numbers.

o Watch Video Solution

150. Three moles of acetone on refluxing with conc. Hy SOy give ... .

o Watch Video Solution

151. Acetone reacts with hydroxylamine to form ... .

o Watch Video Solution

152. Write the name of the product CH3;CH,CH,Br + Hg2F2_>

o Watch Video Solution

153. Express 3582 in roman numbers.


https://dl.doubtnut.com/l/_4TsIfvvrayWX
https://dl.doubtnut.com/l/_z1YhtEQIZoBh
https://dl.doubtnut.com/l/_ydriGysvXcMA
https://dl.doubtnut.com/l/_SQtoNr30QiUg
https://dl.doubtnut.com/l/_pf2C6C6aTrfd

° Watch Video Solution

154. Express 3583 in roman numbers.

° Watch Video Solution

155. Express 3585 in roman numbers.

° Watch Video Solution

156. Express 3586 in roman numbers.

° Watch Video Solution

157. Express 3587 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_pf2C6C6aTrfd
https://dl.doubtnut.com/l/_xcNClmMfs6M4
https://dl.doubtnut.com/l/_oELP9Me6Gzwx
https://dl.doubtnut.com/l/_FtrGccZf3aKv
https://dl.doubtnut.com/l/_Et52Oa6hHilA
https://dl.doubtnut.com/l/_PXvcAWYoiqHq

158. (CH_3)2CO + NaHSO3 ............... .

° Watch Video Solution

159. Complete synthesis by giving missing starting material, reagent or

products

C¢H;CHO + CH;CH,CHO %

° Watch Video Solution

160. Carboxylic acids may be prepared by reacting Grignard reagents with

-------------------

° Watch Video Solution

161. Kolbe's electrolysis of potassium succinate gives carbon dioxide and

.................



https://dl.doubtnut.com/l/_PXvcAWYoiqHq
https://dl.doubtnut.com/l/_R1d148ZhAnk6
https://dl.doubtnut.com/l/_oFYo534nzsmn
https://dl.doubtnut.com/l/_fXnw13KCrwP4

I & Watch Video Solution

162. ... is produced on heating ammonium acetate.

° Watch Video Solution

163. Draw the structure of methyl acetate

° Watch Video Solution

164. Write the products of partial hydrolysis of cyanobenzene.

° Watch Video Solution

165. Write the products of complete hydrolysis of cyanobenzene.

° Watch Video Solution



https://dl.doubtnut.com/l/_fXnw13KCrwP4
https://dl.doubtnut.com/l/_VTdjabd0VFqO
https://dl.doubtnut.com/l/_foYhO0tbmRDV
https://dl.doubtnut.com/l/_UpkPjQ2dxcer
https://dl.doubtnut.com/l/_BHVRP6Mt4P8N
https://dl.doubtnut.com/l/_KoVuo0vBRGM7

166. Write the products of reduction of cyanobenzene.

° Watch Video Solution

167. Draw structure of o-bromophenol.

° Watch Video Solution

168.

- :' AEasERERdsesR@RE &

o Watch Video Solution

169. Draw structure of o- cresol



https://dl.doubtnut.com/l/_KoVuo0vBRGM7
https://dl.doubtnut.com/l/_RIBORK2IJ9bt
https://dl.doubtnut.com/l/_bUMczi5UeajN
https://dl.doubtnut.com/l/_a0CPpHgSRYai

| ° Watch Video Solution

170. Benzoyl chloride reduction with hydrogen in the presence of Pd and

BaSO, give acetophenone/benzaldehyde .

° Watch Video Solution

171. The boiling point of propanone is higher/lower than that of propanal.

° Watch Video Solution

172. Why do aldehydes and ketones undergo nucleophilic addition

reaction?

° Watch Video Solution

173. Acetaldehyde reacts with DNP to give orange/black precipitate.



https://dl.doubtnut.com/l/_a0CPpHgSRYai
https://dl.doubtnut.com/l/_1SeY77BG3sML
https://dl.doubtnut.com/l/_7L1y7cA1dqBM
https://dl.doubtnut.com/l/_w4CH9FBcwSJd
https://dl.doubtnut.com/l/_WcDbS2OcmSoP

| Y Watch Video Solution

174. Nitrobenzene on electrolytic reduction in strongly acidic medium

gives

° Watch Video Solution

175. The red brown precipitate of aldehydes with Fehling solution is due

to formation of Cu,O/CuO.

° Watch Video Solution

176. lodoform test is not given by :

° Watch Video Solution

177. Aldehydes or ketones are reduced to alkanes/alcohols with NaBH,.

[ o S |


https://dl.doubtnut.com/l/_WcDbS2OcmSoP
https://dl.doubtnut.com/l/_dNLFlLD6lmdm
https://dl.doubtnut.com/l/_mD5Co0CgN5h9
https://dl.doubtnut.com/l/_7Kposy0kyBQH
https://dl.doubtnut.com/l/_rnFU9D5FYKZ5

[ @ Watch Video Solution J

178. When Phenol is react with CCl, in place of CHCI; in the reaction,

the product formed is

° Watch Video Solution

179. The reaction

H3PO4
CHy = CHs + CO + H2O(steam) - CH3;CH>COOH is
known as ?.

o Watch Video Solution

180. During the reaction of carboxylic acid with Na2CO3 the carbon

dioxide evolved comes from Na2CO3/carboxylic acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_rnFU9D5FYKZ5
https://dl.doubtnut.com/l/_J3HufY11tgng
https://dl.doubtnut.com/l/_1fYcvkS6mVf8
https://dl.doubtnut.com/l/_wDgpOdK4W573

181. Ethanoic acid is weaker acid than benzoic acid.Why ?

° Watch Video Solution

182. Carboxylic acids are reduced to alkanes /alcohols with Hl, red P.

° Watch Video Solution

183. When calcium acetate is distilled, it gives acetone/ acetaldehyde.

° Watch Video Solution

184. Formic acid gives Silver mirror test Tollen's reagent.

° Watch Video Solution

185. How benzoic acid is prepared from toluene ?


https://dl.doubtnut.com/l/_XPDvWdDQ3bVY
https://dl.doubtnut.com/l/_324wiGrYLdQf
https://dl.doubtnut.com/l/_4pRyDFR3Y0Gf
https://dl.doubtnut.com/l/_eXbsmURQzcrA
https://dl.doubtnut.com/l/_5skThRT5fPIr

° Watch Video Solution

186. Water is more acidic than alcohol

° Watch Video Solution

187. Why are the boiling points of carboxylic acids higher than the

corresponding alcohols ?

° Watch Video Solution

188. Chloroacetic acid reacts with KCN followed by acidic hydrolysis to

give malonic acid/ lactic acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_5skThRT5fPIr
https://dl.doubtnut.com/l/_BiGF7wRDF6Nr
https://dl.doubtnut.com/l/_ZNBtZr1aR5h5
https://dl.doubtnut.com/l/_o8Zv37jXHX64

189. Arrange the following in order of their increasing reactivity towards

HCN : CH3CHOs, CH3COCH3, HCHO, CoH;COCHj

° Watch Video Solution

190. What is the hybridised state of carbonyl carbon atom?

° Watch Video Solution

191. Give one chemical test of distinguish between Pentanone-2 and

Pentanone-3.

° Watch Video Solution

192. Give the structure and IUPAC name of an aliphatic aldehyde having

five carbon atoms which undergoes Cannizzaro's reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_d0nFEXDxsx2H
https://dl.doubtnut.com/l/_QSHOjG7ZsmG3
https://dl.doubtnut.com/l/_c6k44rLXZ0aI
https://dl.doubtnut.com/l/_jzlQzALCiGVy

193. Name the product obtained when acetone is reduced with LiAlH, .

o Watch Video Solution

194. What happens when benzophenone is reduced with Zn(Hg) in the

presence of HCI?

o Watch Video Solution

195. Draw the structural formula of 1-phenylpropan-1-one molecule.

o Watch Video Solution

196. Draw the structure of 3-methylbutanal.

o Watch Video Solution



https://dl.doubtnut.com/l/_jzlQzALCiGVy
https://dl.doubtnut.com/l/_DDkKS9O6ahj4
https://dl.doubtnut.com/l/_9FTFQn4Ba15u
https://dl.doubtnut.com/l/_ibpWjnO1zND2
https://dl.doubtnut.com/l/_wsY6PQ1avpyK
https://dl.doubtnut.com/l/_P1Gr9SUmQhQp

197. Arrange the following carbonyl compounds in the increasing order of

their reactivity in nucleophilic addition reactions : Ethanal, Propanal,

Propanone, butanone .

° Watch Video Solution

198. Arrange the following in the increasing order of their reactivity in

nucleophilic addition reactions.
C¢H;CHO, CgH;COCH;3, C¢H;COCxHj

° Watch Video Solution

199. Write the IUPAC name of the following compound

o
||
CH; - C —-CH = |C’ — CH;

CH;

° Watch Video Solution



https://dl.doubtnut.com/l/_P1Gr9SUmQhQp
https://dl.doubtnut.com/l/_L67WsNPBR530
https://dl.doubtnut.com/l/_Gm4v5bL642ag

200. Write the IUPAC name of

° Watch Video Solution

201. Express 3588 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_rcNnEZGzgDgg
https://dl.doubtnut.com/l/_aYNZAuvi4DoZ
https://dl.doubtnut.com/l/_QeQVm0qjBtCv

202. Express 3600 in roman numbers.

° Watch Video Solution

203. Express 3601 in roman numbers.

° Watch Video Solution

204. Write the IUPAC name of the following

CH; — CH — CH, — C — CH;
| I
OH 0]

compound

o Watch Video Solution

205. Express 3605 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_QeQVm0qjBtCv
https://dl.doubtnut.com/l/_UpHxbB93i0mM
https://dl.doubtnut.com/l/_dUGSlxg56pjU
https://dl.doubtnut.com/l/_SDz5hm1Sfu2v

206. Write a chemical test to distinguish between phenol and benzoic

acid.

o Watch Video Solution

207. Express 3602 in roman numbers.

o Watch Video Solution

208. Express 3603 in roman numbers.

o Watch Video Solution

2009. Give the IUPAC name of HOOCCH = CHCOOH

o Watch Video Solution



https://dl.doubtnut.com/l/_T9g1QjnvCN7w
https://dl.doubtnut.com/l/_dCurjPedswBt
https://dl.doubtnut.com/l/_wfr9Yy3NeKKt
https://dl.doubtnut.com/l/_R1zVLu9zRmkJ

210. Express 3607 in roman numbers.

o Watch Video Solution

211. Identify A, B, C, and D in the following reaction

O
CH,COOH NA—H> A PT> B

o Watch Video Solution

212. Express 3606 in roman numbers.

o Watch Video Solution

COOH

|
213. Write the IUPAC name of HOOC — CH, — CH — CH, — COOH

° Watch Video Solution



https://dl.doubtnut.com/l/_uln3Ta8Ws6JH
https://dl.doubtnut.com/l/_yraQN8bz3zAJ
https://dl.doubtnut.com/l/_sEwNc64xoirc
https://dl.doubtnut.com/l/_hOdooCxcQOWR
https://dl.doubtnut.com/l/_rL0z2sE4HHE3

214. Express 3611 in roman numbers.

o Watch Video Solution

215. Express 3612 in roman numbers.

o Watch Video Solution

216. Express 3613 in roman numbers.

o Watch Video Solution

217. Express 3615 in roman numbers.

o Watch Video Solution

218. Express 3625 in roman numbers.

| o A _L vl . o ~_ 1.0


https://dl.doubtnut.com/l/_rL0z2sE4HHE3
https://dl.doubtnut.com/l/_S1SrhZz0pzZu
https://dl.doubtnut.com/l/_Bk9ZaWYIVmQT
https://dl.doubtnut.com/l/_6aEJM5UnJ5id
https://dl.doubtnut.com/l/_wdA2ZCgWxRgY

L T Vvvallil VIUCO o0IuULiori

219. Write the IUPAC name of CH;COCH,COCHj;

o Watch Video Solution

220. Write the structure of 3-oxopentanal.

o Watch Video Solution

221. Write the structural formula of 1-phenylpentan-2-one.

o Watch Video Solution

222. Express 3616 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_wdA2ZCgWxRgY
https://dl.doubtnut.com/l/_KNm6tmx0y1t4
https://dl.doubtnut.com/l/_XmrDGQzJjoXY
https://dl.doubtnut.com/l/_GUtT69f4T27i
https://dl.doubtnut.com/l/_iiHUmlxGSN5O
https://dl.doubtnut.com/l/_hZjFbIXNHt5B

223. Express 3617 in roman numbers.

o Watch Video Solution

224. Express 3618 in roman numbers.

o Watch Video Solution

225. Express 3620 in roman numbers.

o Watch Video Solution

226. Express 3621 in roman numbers.

o Watch Video Solution

227. Express 3622 in roman numbers.

| o A _L vl . o e~_ ..


https://dl.doubtnut.com/l/_hZjFbIXNHt5B
https://dl.doubtnut.com/l/_D9H9wlmnUx4F
https://dl.doubtnut.com/l/_D0cc4PapwZYT
https://dl.doubtnut.com/l/_2rE5F3SnygD1
https://dl.doubtnut.com/l/_EfVG0RJaK6BM

L T Vvvallil VIUCO o0IuULiorl

228. Express 3623 in roman numbers.

° Watch Video Solution

229. Express 3626 in roman numbers.

° Watch Video Solution

230. Express 3631 in roman numbers.

° Watch Video Solution

o o

| |
231. Write the IUPAC name of CH3CHy — C — CHy — C — H is

A. T-oxopentanal-3-one


https://dl.doubtnut.com/l/_EfVG0RJaK6BM
https://dl.doubtnut.com/l/_TXop8ZRhbBGg
https://dl.doubtnut.com/l/_4sxvtV2co8vt
https://dl.doubtnut.com/l/_eKYCrWnvjnW7
https://dl.doubtnut.com/l/_3Ajcu3PVVFSp

B. 1-oxopentanal

C. 3-oxopentanal

D. 3-oxopentanal-3-ane

Answer:

° Watch Video Solution

232. Express 3627 in roman numbers.

° Watch Video Solution

233. Express 3628 in roman numbers.

° Watch Video Solution

234. Complete the following statement- The vitamin which is required for

good eyesight, healthy bones and tissues and healthy embryonic


https://dl.doubtnut.com/l/_3Ajcu3PVVFSp
https://dl.doubtnut.com/l/_nxtOH1dWW7Br
https://dl.doubtnut.com/l/_zrVT2Op4YKrD
https://dl.doubtnut.com/l/_MZPvqZMDKq6l

development is called-

° Watch Video Solution

235. Express 3630 in roman numbers.

° Watch Video Solution

LiAlH, | Ether
236. RCOOH —— A, Ais

A RCH,OH

B. RO Hs;

C.RCHO

D.ROR

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_MZPvqZMDKq6l
https://dl.doubtnut.com/l/_QSoG5mCNewB8
https://dl.doubtnut.com/l/_IMRAW0Mwx0aj
https://dl.doubtnut.com/l/_aAi0F3z5GD8f

237. Which vitamin is also called as retinol?

° Watch Video Solution

238. Express 3632 in roman numbers.

° Watch Video Solution

239. Which vitamin produces a protein rhodopsin in the eye?

° Watch Video Solution

240. Express 3633 in roman numbers.

° Watch Video Solution

241. Express 3635 in roman numbers.



https://dl.doubtnut.com/l/_aAi0F3z5GD8f
https://dl.doubtnut.com/l/_CIvFl4SWF0Fu
https://dl.doubtnut.com/l/_QRyb7Tqs4AEv
https://dl.doubtnut.com/l/_dnKBrYXPXzy5
https://dl.doubtnut.com/l/_vHACEZL3urOg

| ° Watch Video Solution

242. Express 3636 in roman numbers.

° Watch Video Solution

243.The vitamin present in carrot, tomato, broccoli and spinach is-

° Watch Video Solution

244. Complete the following statement- Vitamin A is found in-

° Watch Video Solution

245. Answer the following question in one word- Which vitamin help to

maintain good skin, immune system and also called as retinol?

° Watch Video Solution



https://dl.doubtnut.com/l/_vHACEZL3urOg
https://dl.doubtnut.com/l/_gbmmVbscmSna
https://dl.doubtnut.com/l/_23lzeXR3q5fP
https://dl.doubtnut.com/l/_yiHQyZ6fYz0V
https://dl.doubtnut.com/l/_TlqDPp6dKifd

246. Describe the following reaction : Cannizzaro's reaction.

° Watch Video Solution

247. Express 3638 in roman numbers.

° Watch Video Solution

248. Express 3650 in roman numbers.

° Watch Video Solution

249. Explain:

Cannizzaro’s reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_TlqDPp6dKifd
https://dl.doubtnut.com/l/_OuwzeMpAlcvH
https://dl.doubtnut.com/l/_zezoqGlx5cPW
https://dl.doubtnut.com/l/_7fhtAlIRTXjd
https://dl.doubtnut.com/l/_RJzAARS9zlgr
https://dl.doubtnut.com/l/_Rb3UDUaxnxUq

250. Illustrate the following named reaction by giving example :

Clemmensen reduction.

° Watch Video Solution

251. Express 3651 in roman numbers.

° Watch Video Solution

252. Express 3652 in roman numbers.

° Watch Video Solution

253. Complete the following statement- Vitamin A is the component of a
protein produced in the eye which allows the eye to see in the low light.

The name of the protein is-

° Watch Video Solution



https://dl.doubtnut.com/l/_Rb3UDUaxnxUq
https://dl.doubtnut.com/l/_bzCS1roBJLDP
https://dl.doubtnut.com/l/_pMxa8EmF9oKW
https://dl.doubtnut.com/l/_BCSr4BBCcGrq

254. Express 3653 in roman numbers.

o Watch Video Solution

255. Express 3655 in roman numbers.

o Watch Video Solution

256. Complete the following statement- The food sources in which

vitamin A is present are-

o Watch Video Solution

257. Express 3656 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_jwRJwyBKjBQz
https://dl.doubtnut.com/l/_b0Nvn8BpMPTg
https://dl.doubtnut.com/l/_n9cTGpeEJPBD
https://dl.doubtnut.com/l/_rhr8AjYF77mn

258. Express 3657 in roman numbers.

o Watch Video Solution

259. Express 3658 in roman numbers.

o Watch Video Solution

260. Why do aldehydes and ketones undergo nucleophilic addition

reaction?

o Watch Video Solution

261. Aldehydes have lower boiling points than the corresponding

alcohols. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_1X8DNgiEgZZi
https://dl.doubtnut.com/l/_lwcxfmSDKwpy
https://dl.doubtnut.com/l/_gY3vrNds3lwG
https://dl.doubtnut.com/l/_V9TNoOgxiGen
https://dl.doubtnut.com/l/_YaCzyGKZ1vXJ

262. Why do aldehydes and ketones have high dipole moments?

° Watch Video Solution

263. Fill in the blank with appropriate answer- is the vitamin

which produces a protein in the eye which allows eye to see in low light.

° Watch Video Solution

264. Complete the reaction:

CO, HCI
Anhydroua AICl3/HC]

P scsssrsssmaman

° Watch Video Solution

265. What happens when carbonyl compounds are treated with hydrazine

? Write the reaction.



https://dl.doubtnut.com/l/_YaCzyGKZ1vXJ
https://dl.doubtnut.com/l/_ra3RrBq4a8vc
https://dl.doubtnut.com/l/_5OqufHKRLQOl
https://dl.doubtnut.com/l/_BycsTRTie6bG

| ° Watch Video Solution

266. Give a chemical test with equation to distinguish between methanal

and ethanal.

° Watch Video Solution

267. Name the following- The vitamin which is important for eyes.

° Watch Video Solution

268. What happens when carbonyl compound is treated with zinc
amalgam and concentrated hydrochloric acid? Give chemical equation.

What is the name of the reaction?

° Watch Video Solution



https://dl.doubtnut.com/l/_BycsTRTie6bG
https://dl.doubtnut.com/l/_b7rryHzOn19Z
https://dl.doubtnut.com/l/_dyLRd4erRR0b
https://dl.doubtnut.com/l/_ZBMsDgxui1d9

269. Complete the following statement Vitamin A is called retinol

because-

o Watch Video Solution

270. Write short notes on the following: Aldol condensation.

o Watch Video Solution

271. Write short notes on the following: Cannizzaro's reaction .

o Watch Video Solution

272. Express 3708 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_21qkjGawQc5S
https://dl.doubtnut.com/l/_IFqFt3hSZa0Y
https://dl.doubtnut.com/l/_UtABM3720QNm
https://dl.doubtnut.com/l/_lwEGu6deuMk9

273. Distinguish between formic acid and acetic acid.

o Watch Video Solution

LiAlH, | Cu/5T3K
274. Give the formula of A,B CH3COOH ;A > B

° Watch Video Solution

275. Complete the following statement- Vitamin A is also called as-

° Watch Video Solution

276. Why are the boiling points of carboxylic acids higher than the

corresponding alcohols ?

° Watch Video Solution



https://dl.doubtnut.com/l/_l2hxR30kYTs0
https://dl.doubtnut.com/l/_m4fRMtUHTNvs
https://dl.doubtnut.com/l/_F79GcsSkvFpe
https://dl.doubtnut.com/l/_UhQ7XqwpPyDj

277. Although phenoxide ion has more number of resonating structures

than carboxylate ion, carboxylic acid is a strong acid than phenol. Why ?

° Watch Video Solution

278. Arrange the following in increasing order of acid strength :

(CH;),CHCOOH, CH3CH,CH(Br)COOH, CH3CH(Br)CH,COOH

° Watch Video Solution

279. Write chemical reactions to affect the following transformation :

Butan-1-ol to butanoic acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_DoLadjx3yRwb
https://dl.doubtnut.com/l/_fywhElLPO2sI
https://dl.doubtnut.com/l/_JMGlSZxkFAh3

280. Write chemical reactions to affect the following transformation :

Benzyl alcohol to phenyl ethanoic acid.

° Watch Video Solution

281. Write chemical reactions to affect the following transformation :

Benzamide to benzoic acid.

° Watch Video Solution

282. How will you convert benzoic acid to benzaldehyde?

° Watch Video Solution

283. How will you convert benzoic acid to ethyl benzoate ?

° Watch Video Solution



https://dl.doubtnut.com/l/_OrZ32cyupMIY
https://dl.doubtnut.com/l/_1EN8Ugtp7Bd0
https://dl.doubtnut.com/l/_lWuuuReAqIGr
https://dl.doubtnut.com/l/_hGHucOor0TsJ
https://dl.doubtnut.com/l/_m2IwCfNEwdpF

284. Write a short note on HV.Z. reaction.

° Watch Video Solution

285. Why are the boiling points of carboxylic acids higher than the

corresponding alcohols ?

° Watch Video Solution

286. Identify compounds (A) to(D) in the following reactions:

1) O
CHyCH = C(CHy), — " (4) + (B)
(i1) HsO | Zn

o Watch Video Solution

287. Identify compounds (A) to(D) in the following reactions:

Pd/BaSO4/ S
C,H;COOH + SOCl, — (C€) ———"3 (D)

o Watch Video Solution



https://dl.doubtnut.com/l/_m2IwCfNEwdpF
https://dl.doubtnut.com/l/_Vmtp4MhEADaI
https://dl.doubtnut.com/l/_cegMckYmUVcm
https://dl.doubtnut.com/l/_iitaIDahrEWK

288. Write esterification reaction.

° Watch Video Solution

289. Write Schotten Baumann reaction.

° Watch Video Solution

290. Explain the following reactions :

Kolbe's reaction.

° Watch Video Solution

291. Write a chemical test to distinguish between Acetic acid and Acetone.

° Watch Video Solution



https://dl.doubtnut.com/l/_iitaIDahrEWK
https://dl.doubtnut.com/l/_6VFFOQxgojLc
https://dl.doubtnut.com/l/_qtDudkPKydVz
https://dl.doubtnut.com/l/_gCJvQfat53yS
https://dl.doubtnut.com/l/_EIoufHm9MrDJ
https://dl.doubtnut.com/l/_4TjDSHQiCnNN

292. Distinguish between formic acid and acetic acid.

° Watch Video Solution

293. Name the reagents used in the following reaction

CH, — CO — CHy —s CH, — CH — CH,
|
OH

° Watch Video Solution

294. Name the reagents used in the following reaction

CyHy — CHy — CH; — CyHy — COO K+

° Watch Video Solution

295. Predict the products of the following reaction

(i)HzNNHz
CH; - C =0 >
| (i) KOH / glycol , A

CH;

° Watch Video Solution



https://dl.doubtnut.com/l/_4TjDSHQiCnNN
https://dl.doubtnut.com/l/_slGoQsbs7xBM
https://dl.doubtnut.com/l/_gkELW1arbf5k
https://dl.doubtnut.com/l/_LYz0hGMsh6ID

296. Predict the products of the following reaction
NaOH ,I>

06H5COCH3—>

° Watch Video Solution

297. Predict the products of the following reaction

NaOH / CaO
CH,?,COONG, T)

° Watch Video Solution

298. Write short notes on the following: Cannizzaro's reaction .

° Watch Video Solution

299. Write short notes on the following: Rosenmund reduction.

° Watch Video Solution



https://dl.doubtnut.com/l/_LYz0hGMsh6ID
https://dl.doubtnut.com/l/_y5ifPsj5ArAY
https://dl.doubtnut.com/l/_sDmwgB7pzDI4
https://dl.doubtnut.com/l/_UfAwkEtA3r3S
https://dl.doubtnut.com/l/_jxPYIBo7l6P1

300. Write short notes on the following: Friedel Crafts acylation.

° Watch Video Solution

301. Give simple chemical tests to distinguish between the following pairs

of compounds: Benzoic acid and Ethyl benzoate.

° Watch Video Solution

302. Give chemical tests to distinguish between the following pairs :

Pentan -2-one and pentan -3-one

° Watch Video Solution

303. Give simple chemical tests to distinguish between the following pairs

of compounds: Benzaldehyde and Acetophenone.

| e |


https://dl.doubtnut.com/l/_jxPYIBo7l6P1
https://dl.doubtnut.com/l/_icFCmWyNFxPk
https://dl.doubtnut.com/l/_2HaZZy8Yna1l
https://dl.doubtnut.com/l/_Hh0zGTCLJM0x
https://dl.doubtnut.com/l/_8YrNUVXy1Snl

| & Watch Video Solution I

304. Express 3660 in roman numbers.

o Watch Video Solution

305. Express 3661 in roman numbers.

o Watch Video Solution

306. Express 3662 in roman numbers.

o Watch Video Solution

307. Give simple chemical tests to distinguish between the following pairs
of compounds.

Ethanal and Propanal

s I


https://dl.doubtnut.com/l/_8YrNUVXy1Snl
https://dl.doubtnut.com/l/_Ll1QRm1hihzL
https://dl.doubtnut.com/l/_OMT3FxndzPgs
https://dl.doubtnut.com/l/_20wR9G2vjmZa
https://dl.doubtnut.com/l/_AbvGrxS9QpGw

| ¥ Vvatch Video Solution J

308. Give simple chemical tests to distinhuish between the following pairs
of compounds

Phenol and Benzoic acid

° Watch Video Solution

309. Give simple chemical tests to distinguish between the following pairs
of compounds.

Acetophenone and Benzophenone

° Watch Video Solution

310. Among CH3CH,CH(Br)COOH and CH3;CH(Br)CHCOOH

which is stronger acid and why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_AbvGrxS9QpGw
https://dl.doubtnut.com/l/_KNMXWYROjJIF
https://dl.doubtnut.com/l/_CmFwsnXqpFDN
https://dl.doubtnut.com/l/_v214IXY7c8Fw

311. How are carboxylic acids prepared from the following : Primary

alcohol.

° Watch Video Solution

312. How are carboxylic acids prepared from the following : Grignard

reagent.

° Watch Video Solution

313. Give chemical reactions for conversion of bromobenzene into benzoic

acid.

° Watch Video Solution

314. Write Aldol condensation reaction.

° Watch Video Solution



https://dl.doubtnut.com/l/_aj6JNQ8p5plL
https://dl.doubtnut.com/l/_TKeQ1CCkD64S
https://dl.doubtnut.com/l/_x52BoEB0mSyw
https://dl.doubtnut.com/l/_Cygh8Cfi9Gnn

315. Write Hell Volhard Zelinsky reaction.

° Watch Video Solution

316. Complete the following :

LiAlH,
CH3COCH3 e

° Watch Video Solution

317. Carboxylic acids do not give the characteristic reactions of carbonyl

group. Explain.

° Watch Video Solution

318. Complete the following :

oN H*,HO0
CoH,.CHO XN 4" 47 o B

[ o~ |


https://dl.doubtnut.com/l/_Cygh8Cfi9Gnn
https://dl.doubtnut.com/l/_ZhH2FAEW4hgq
https://dl.doubtnut.com/l/_hG42CETjHczK
https://dl.doubtnut.com/l/_hQd21vMALJrb
https://dl.doubtnut.com/l/_i1rDoLlgnTUo

[ W Watch Video Solution ]

319. Explain why aldehydes are more reactive than ketones towards

nucleophilic addition reactions ?

° Watch Video Solution

320. Complete the following:

COOH
o PCI, N H,, Pd-BaSO, 5B

S, quinoline

o Watch Video Solution

321. What is formalin solution ? Give its one use..

o Watch Video Solution



https://dl.doubtnut.com/l/_i1rDoLlgnTUo
https://dl.doubtnut.com/l/_ftrLdWX1ng3e
https://dl.doubtnut.com/l/_x9yxMmk1XqyC
https://dl.doubtnut.com/l/_ygqBtBnoFQ3D
https://dl.doubtnut.com/l/_Mrcn377h3Uob

322. Complete the following reaction:

50Cl, Hy
CH3COOH — .......... 2 e, L 7
Pd / BaSO4

° Watch Video Solution

323. Arrange the following in increasing order of acid strength :

CH;COOH, CICH,COOH

° Watch Video Solution

324.Why are bond length of C = O in carboxylic acid is slightly larger than

that in aldehyde and ketone ?

° Watch Video Solution

th co
325. Complete the following reaction: C¢ Hs Br + Mg e —02> ?
H;0+

° Watch Video Solution



https://dl.doubtnut.com/l/_Mrcn377h3Uob
https://dl.doubtnut.com/l/_gRsyHBqAVdLx
https://dl.doubtnut.com/l/_jUVPZNFJSozn
https://dl.doubtnut.com/l/_WW5zJxMiIS1e

326. What is the function of rhodopsin in eyes?

o Watch Video Solution

o

[
327. How will you distinguish between CH3;CHO and CH3;CCHj

° Watch Video Solution

328. Complete the following reaction :

2HCHO + NaOH(50% ) —  --n-rn- FE— ?

° Watch Video Solution

329. Which of the following is more acidic CH;0H, CiHsOH

° Watch Video Solution



https://dl.doubtnut.com/l/_wd1AHTMWc57g
https://dl.doubtnut.com/l/_BBmUhxPpM3RQ
https://dl.doubtnut.com/l/_Z2jrFk1vnBBH
https://dl.doubtnut.com/l/_BpXYvVRtOSM1
https://dl.doubtnut.com/l/_u22GHwXhMrrO

330. Name the main component of rhodopsin protein?

° Watch Video Solution

331. Name the vitamin that is used to make healthy eyesight?

° Watch Video Solution

332. Answer in one word- A vitamin called Retinol.

° Watch Video Solution

333. Mention any two vitamin Arich vegetables?

° Watch Video Solution

334. Compare the acidic strength of CH3COOH and HCOOH

| o A _L vl . o e~ ..


https://dl.doubtnut.com/l/_u22GHwXhMrrO
https://dl.doubtnut.com/l/_lrwn5blFLWRy
https://dl.doubtnut.com/l/_1bMCv3ZpFeq5
https://dl.doubtnut.com/l/_7bkAhlRGSCML
https://dl.doubtnut.com/l/_fFYajQ5t3uRT
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335. Write Wolff Kishner reduction.

o Watch Video Solution

336. Write Clemmensen reduction.

o Watch Video Solution

337. Complete the following statement- Retinol is-

o Watch Video Solution

338. How will you convert Benzene into Benzaldehyde ?

o Watch Video Solution



https://dl.doubtnut.com/l/_fFYajQ5t3uRT
https://dl.doubtnut.com/l/_dFFGmyXvcCeX
https://dl.doubtnut.com/l/_h1DFgFrcrGLz
https://dl.doubtnut.com/l/_oWo7Ue9PSxja
https://dl.doubtnut.com/l/_pO1awm7Bdt79
https://dl.doubtnut.com/l/_n3sY3WSe53Zn

339. How will you convert benzene into Benzoic acid ?

° Watch Video Solution

340. How will you convert Benzene into acetophenone.

° Watch Video Solution

341. Aromatic aldehydes and ketones are less

correspondingAliphatic compounds. Explain.

reactive than

° Watch Video Solution

342. Complete the following:

CH;COOH + PCl; —

° Watch Video Solution



https://dl.doubtnut.com/l/_n3sY3WSe53Zn
https://dl.doubtnut.com/l/_n3NWjl9ZU8Ra
https://dl.doubtnut.com/l/_VQnarT7RP7AI
https://dl.doubtnut.com/l/_BtJQh3FCO63E

343. Complete the following:

2CH3000H + Na2003 —

o Watch Video Solution

344. Why formaldehyde is more reactive than Acetone ?

o Watch Video Solution

345. Complete the following:

02H5COOH + NH3 —

o Watch Video Solution

346. Complete the following: CoHsCOOH + NaOH —

o Watch Video Solution



https://dl.doubtnut.com/l/_PuaXSylV1RZu
https://dl.doubtnut.com/l/_FAhI029d8H6e
https://dl.doubtnut.com/l/_OjhdiNYmYzEq
https://dl.doubtnut.com/l/_GTUv8GWNkZFT
https://dl.doubtnut.com/l/_8osdeBIKDrno

347. Explain why aldehydes are more reactive than ketones towards

nucleophilic addition reactions ?

o Watch Video Solution

348. Complete the following:

RCOOH + S0OCly —

o Watch Video Solution

349. Complete the following:

2CH3COOH + 2Na —

o Watch Video Solution

350. What happens when acetone reacts with HCN?

o Watch Video Solution



https://dl.doubtnut.com/l/_8osdeBIKDrno
https://dl.doubtnut.com/l/_rSbMnUG05a0c
https://dl.doubtnut.com/l/_d2ImJvDqBa8L
https://dl.doubtnut.com/l/_Af1ry5gOcPQx

351. The melting point of butanoic acid (C3H;COOH) is higher than

pentanoic acid (C4HyCOOH). Explain.

° Watch Video Solution

352. Which mineral is required for the body specially for strong teeth and

bones?

° Watch Video Solution

353. What happens when acetaldehyde reacts with Hydrazine .

° Watch Video Solution

354. What happens when acetaldehyde reacts with Phenyl hydrazine.

° Watch Video Solution



https://dl.doubtnut.com/l/_Af1ry5gOcPQx
https://dl.doubtnut.com/l/_CN1O58aQwqU9
https://dl.doubtnut.com/l/_InrURFIiDtrZ
https://dl.doubtnut.com/l/_fzUoxnitdrku
https://dl.doubtnut.com/l/_CQVGZST8NrWC

355. Give chemical test to distinguish between benzaldehyde and benzoic

acid.

° Watch Video Solution

356. Write short note on Rosenmund's reaction.

° Watch Video Solution

357. Describe the following reaction : Cannizzaro's reaction.

° Watch Video Solution

358. Give simple chemical tests to distinguish between the following pairs
of compounds.

Acetophenone and Benzophenone

° Watch Video Solution



https://dl.doubtnut.com/l/_blxLN006oSby
https://dl.doubtnut.com/l/_ky0w6I6ujaL0
https://dl.doubtnut.com/l/_U5qatAc1LmzE
https://dl.doubtnut.com/l/_K4zZWL5fj6hG

359. Give simple chemical tests to distinguish between the following pairs
of compounds.

Ethanal and Propanal

o Watch Video Solution

360. Give simple chemical tests to distinguish between the following pairs

of compounds: Propanal and propanone.

o Watch Video Solution

361. An organic compound A contains 69.77% carbon 11.63% hydrogen
and rest oxygen. The molecular Mass of the compound is 86. It does not
reduce Tollen’s reagent but forms an addition compound with sodium
hydrogen sulphite and gives positive iodoform test. On vigorous
Oxidation it gives ethanoic and propanoic acids. Derive the Possible

structure of A.


https://dl.doubtnut.com/l/_K4zZWL5fj6hG
https://dl.doubtnut.com/l/_X3P1nauxO2OJ
https://dl.doubtnut.com/l/_OoSs2vG5cesB
https://dl.doubtnut.com/l/_DKWagc4g4rBt

° Watch Video Solution

362. Give simple chemical tests to distinguish between the following pairs

of compounds: Propanal and propanone.

° Watch Video Solution

363. Give simple chemical tests to distinguish between the following pairs
of compounds.

Acetophenone and Benzophenone

° Watch Video Solution

364. Give simple chemical tests to distinhuish between the following pairs
of compounds

Phenol and Benzoic acid

° Watch Video Solution



https://dl.doubtnut.com/l/_DKWagc4g4rBt
https://dl.doubtnut.com/l/_r7TeMiU6POGw
https://dl.doubtnut.com/l/_pDWE4uBpn6ET
https://dl.doubtnut.com/l/_e7POjmfpiV6G

365. How will you bring about the following conversion ?

Ethanol to ethane.

° Watch Video Solution

366. How will you bring about the following conversions :Benzaldehyde to

Benzophenone

° Watch Video Solution

367. An organic compound A has molecular formula CgH50;,. It gets
hydrolysed with dil. H,SO, and gives a carboxylic acid B and an alcohol C.
Oxidation of C with chronic acid also produced B. C on dehydration gives

but-1-ene. Write equations for the reactions involved.

° Watch Video Solution



https://dl.doubtnut.com/l/_e7POjmfpiV6G
https://dl.doubtnut.com/l/_eTEACFhzJmco
https://dl.doubtnut.com/l/_Ub59dq391SUC
https://dl.doubtnut.com/l/_qFId3kAyS6By

368. Write Hell Volhard Zelinsky reaction.

° Watch Video Solution

369. Name the reagents used in the following reactions :

CH3
. |
CH,COCH; —- CH; — ¢ - CH,

OH

° Watch Video Solution

370. Name the reagents used in the following reactions :

CH,COOH — CICH, — COOH

° Watch Video Solution

371. Predict the products of the

CH; — O _ o

CH;

following

reaction



https://dl.doubtnut.com/l/_kIICScnacDzh
https://dl.doubtnut.com/l/_YKS9DyIJFTVr
https://dl.doubtnut.com/l/_Lm9ztCuBWIoX
https://dl.doubtnut.com/l/_ZD6EQsrZmMRs

_ ° Watch Video Solution

372. Predict the products of the following reaction
(a) KMnO4s/ KOH
C@H5CHQCH3 >
(b)H+
° Watch Video Solution
NH3/ A

373. Predict the products of the following reaction : CH;COOH ——

° Watch Video Solution

374. Explain the mechanism of a nucleophilic attack on the carbonyl

group of an aldehyde or a ketone.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZD6EQsrZmMRs
https://dl.doubtnut.com/l/_EQTnbTYLjmt9
https://dl.doubtnut.com/l/_NRatAdlbn8q4
https://dl.doubtnut.com/l/_tjdZDbU2JAFS

375. Give simple chemical tests to distinguish between the following pairs
of compounds.

Ethanal and Propanal

° Watch Video Solution

376. How will you convert benzoic acid to benzaldehyde?

° Watch Video Solution

377. How will you bring about the following conversion ?

Ethanal to 2- hydroxy propanoic acid. Give complete reaction.

° Watch Video Solution

378. How will you bring about the following conversions : Propanone to

propene

| e |


https://dl.doubtnut.com/l/_T4wGZR69XdYo
https://dl.doubtnut.com/l/_WpU5SahDjm07
https://dl.doubtnut.com/l/_f1gpl7E5ZO04
https://dl.doubtnut.com/l/_2wugVeZ54WoQ

| & Watch Video Solution

379. Describe the following reaction : Cannizzaro's reaction.

o Watch Video Solution

380. Describe the following giving chemical equations : Decarboxylation.

o Watch Video Solution

381. Complete the following chemical equation :
KMnO
L—l-l'

KOH, heat

o Watch Video Solution



https://dl.doubtnut.com/l/_2wugVeZ54WoQ
https://dl.doubtnut.com/l/_CEIjBfvegd1v
https://dl.doubtnut.com/l/_V0ArkFROWluZ
https://dl.doubtnut.com/l/_DepaQjHIk2bD

382. Complete the following chemical equation :

OOH

™ ==

socl,

| heat
+
° Watch Video Solution
: : . Hs0*
383. Complete the following chemical equation : C HsCONH, h——>
eat

o Watch Video Solution

384. In the preparation of acetaldehyde from ethyl alcohol, it is distilled

out as soon as it is formed. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_DepaQjHIk2bD
https://dl.doubtnut.com/l/_GLcMaUacUQLR
https://dl.doubtnut.com/l/_ITc0eyvztvfm
https://dl.doubtnut.com/l/_prMfj8cN1Mrh
https://dl.doubtnut.com/l/_LkNeJPrTWwrN

385. Give achemicaltest to differentiate between formaldehyde and

acetaldehyde. Also write the chemical equation.

o Watch Video Solution

386. It is necessary to control pH during the reaction of carbonyl

compounds with ammonia derivatives. Explain.

o Watch Video Solution

387. Sodium bisulphite is used for the purification of aldehydes and

ketones. Explain.

o Watch Video Solution

388. Give chemical tests to distinguish between Propanal and propanone.

o Watch Video Solution



https://dl.doubtnut.com/l/_LkNeJPrTWwrN
https://dl.doubtnut.com/l/_xmPRzUpz21F2
https://dl.doubtnut.com/l/_KNpLxR82EyCp
https://dl.doubtnut.com/l/_6pcBTlZvcGtQ

389. Write a chemical test to distinguish between benzaldehyde and

acetophenone.

o Watch Video Solution

390. How would you obtain But-2-enal from ethanal?

o Watch Video Solution

391. Express 3663 in roman numbers.

o Watch Video Solution

392. Benzoic acid from ethylbenzene

o Watch Video Solution



https://dl.doubtnut.com/l/_lqEXC3pT5rpB
https://dl.doubtnut.com/l/_H9GkuWukmHKR
https://dl.doubtnut.com/l/_U0L3AhIlFSK3
https://dl.doubtnut.com/l/_W3Av0OQWkrMQ

393. Discuss the nature of C-O Bond in carbonyl compounds.

o Watch Video Solution

394. Write the reaction of acetaldehyde with Grignard reagent.

o Watch Video Solution

395. Explain the oxidation of carbonyl compounds with Fehling solution.

o Watch Video Solution

396. Express 3665 in roman numbers.

o Watch Video Solution

397. Express 3666 in roman numbers.


https://dl.doubtnut.com/l/_0fSdHAkKzEUG
https://dl.doubtnut.com/l/_ffgUGFdnl6qr
https://dl.doubtnut.com/l/_pMm00rvanZlp
https://dl.doubtnut.com/l/_7QPWTlkRvsq0
https://dl.doubtnut.com/l/_htl0dJbhMZa0

° Watch Video Solution

398. Express 3667 in roman numbers.

° Watch Video Solution

399. Express 3668 in roman numbers.

° Watch Video Solution

400. Express 3670 in roman numbers.

° Watch Video Solution

401. Write cross aldol condensation.

° Watch Video Solution



https://dl.doubtnut.com/l/_htl0dJbhMZa0
https://dl.doubtnut.com/l/_95BlRLyRoO3J
https://dl.doubtnut.com/l/_igJveVsuKr9n
https://dl.doubtnut.com/l/_1BWvIdZ1SfSJ
https://dl.doubtnut.com/l/_Nk3Syb7nJgK2
https://dl.doubtnut.com/l/_9nWHIjtUh1zY

402. Give one chemical test of distinguish between Pentanone-2 and

Pentanone-3.

° Watch Video Solution

403. Write a chemical test to distinguish between benzaldehyde and

acetophenone.

° Watch Video Solution

404. Write a chemical test to distinguish between phenol and benzoic

acid.

° Watch Video Solution

405. Write a chemical test to distinguish between benzaldehyde and

acetophenone.

| e |


https://dl.doubtnut.com/l/_9nWHIjtUh1zY
https://dl.doubtnut.com/l/_b5kRbvNbM5LK
https://dl.doubtnut.com/l/_AhIRrCxza0aG
https://dl.doubtnut.com/l/_daM8vcjliS75

I & Watch Video Solution

406. Write the structure of the main products in the following reaction :

€8,y

+C,H,coCl

o Watch Video Solution

407. Write the structure of the main products in the following reaction :
H,

2.H,0"

NO

o Watch Video Solution



https://dl.doubtnut.com/l/_daM8vcjliS75
https://dl.doubtnut.com/l/_ZdAAOCFKK41A
https://dl.doubtnut.com/l/_6JrycWEMlKKw

408. Express 3671 in roman numbers.

o Watch Video Solution

409. Express 3672 in roman numbers.

o Watch Video Solution

410. Express 3673 in roman numbers.

o Watch Video Solution

411. Express 3675 in roman numbers.

o Watch Video Solution

412. Express 3676 in roman numbers.


https://dl.doubtnut.com/l/_wqCpF1ArwlSp
https://dl.doubtnut.com/l/_1p3L1OT5mdU5
https://dl.doubtnut.com/l/_0jlJ7Ix5nZ8m
https://dl.doubtnut.com/l/_KkT12yRmhP6T
https://dl.doubtnut.com/l/_6E9BNOHFTUdI

° Watch Video Solution

413. Give simple chemical tests to distinguish between the following pairs
of compounds.

Ethanal and Propanal

° Watch Video Solution

414. Although phenoxide ion has more number of resonating structures

than carboxylate ion, carboxylic acid is a strong acid than phenol. Why ?

° Watch Video Solution

Bry/ P
415. Complete the following reactions: CH;COOH 0

° Watch Video Solution



https://dl.doubtnut.com/l/_6E9BNOHFTUdI
https://dl.doubtnut.com/l/_ssgalhTr9nen
https://dl.doubtnut.com/l/_PtvpsEvraCfz
https://dl.doubtnut.com/l/_sied3VxKgvgy

416. Give chemical tests to distinguish between the following pair of

compounds : Benzoic acid and phenol.

o Watch Video Solution

417. Express 3677 in roman numbers.

o Watch Video Solution

418. Write the products of the following reaction

2C¢H5;CHO + conc. NaOH —

o Watch Video Solution

419. Express 3678 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_ROqZkaFSav1T
https://dl.doubtnut.com/l/_QkYVn3IyAxXK
https://dl.doubtnut.com/l/_r0ZR6csMAG0B
https://dl.doubtnut.com/l/_WcSxrvwiaram
https://dl.doubtnut.com/l/_x1p7QILY350A

420. Express 3680 in roman numbers.

o Watch Video Solution

421. Express 3681 in roman numbers.

o Watch Video Solution

422. Write the chemical equations to illustrate the following name

reaction : Wolff-Kishner reduction.

o Watch Video Solution

423. Express 3682 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_x1p7QILY350A
https://dl.doubtnut.com/l/_OuAH8GuEr7WT
https://dl.doubtnut.com/l/_63yZrHLgDhcM
https://dl.doubtnut.com/l/_C9X6q8av3OhL

424. Express 3683 in roman numbers.

° Watch Video Solution

425. Aldehydes, ketones and carboxylic acids contain >C=0 group. Name

the product obtained by the reaction between acetic acid and ethanol.

° Watch Video Solution

426. Give a chemical test to distinguish between aldehyde and ketone.

° Watch Video Solution

427. Aldehydes, ketones and carboxylic acids contain >C=0 group. Two

chemical reactions are given below : (1) Identify the products of each


https://dl.doubtnut.com/l/_WYQBDq1TYsg9
https://dl.doubtnut.com/l/_xERZyviFLrqF
https://dl.doubtnut.com/l/_6ltS5ehAq8zn
https://dl.doubtnut.com/l/_1Nd1zGiBzSbv

reaction.(2) Give the name of each reaction.

H,C /iy

C=0 »

HCl
H,c”

CO/HCI

yd.AlCl4/Cu

o Watch Video Solution

428. Express 3685 in roman numbers.

o Watch Video Solution

429. Express 3686 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_1Nd1zGiBzSbv
https://dl.doubtnut.com/l/_IWwvDQJRNfLZ
https://dl.doubtnut.com/l/_anZ11NIMlHsO

430. Express 3687 in roman numbers.

° Watch Video Solution

431. How will you bring about the following conversion : Toluene to

benzaldehyde.

° Watch Video Solution

432. How will you bring about the following conversion : Ethanenitrile to

ethanoic acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_26pQUKw4eO7y
https://dl.doubtnut.com/l/_5f70tOWVFJe3
https://dl.doubtnut.com/l/_KwgReuiugSkS

433. Identify A, B, C and D in the following reaction :

0
I

~
o Ho y A

Pd—BaSO,

° Watch Video Solution

434.\dentify A, B, C and D in the following reaction :

anhyd. AlCl4

+ CH_COCl *B

° Watch Video Solution

435. Express 3688 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_pdyvELdN8F4j
https://dl.doubtnut.com/l/_wERvO5bVvamj
https://dl.doubtnut.com/l/_FuOdYLQbNU1v

436. Express 3700 in roman numbers.

° Watch Video Solution

437.Express 3712 in roman numbers.

° Watch Video Solution

438. Express 3701 in roman numbers.

° Watch Video Solution

439. Express 3702 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_FuOdYLQbNU1v
https://dl.doubtnut.com/l/_s7kpidLiKzUk
https://dl.doubtnut.com/l/_AsxnpcdfSzDF
https://dl.doubtnut.com/l/_kplsFV28fsSy
https://dl.doubtnut.com/l/_6tOhrRQOlABu

440. Express 3703 in roman numbers.

° Watch Video Solution

441. Distinguish between formic acid and acetaldehyde by a suitable

chemical test.

° Watch Video Solution

442, Arrange the following carbonyl compounds in the increasing order
of their reactivity in nucleophilic addition reactions : Ethanal, Propanal,

Propanone, butanone .

° Watch Video Solution

443, Differentiate with chemical test : Ethanal and Ethanoic acid.

° Watch Video Solution



https://dl.doubtnut.com/l/_lL51FTzrVVRm
https://dl.doubtnut.com/l/_JrziO20WSkiQ
https://dl.doubtnut.com/l/_gbii0iYDXbvU
https://dl.doubtnut.com/l/_aMDJenx0HJRd

444, Differentiate with chemical test : Benzaldehyde and Acetophenone.

o Watch Video Solution

445, Express 3705 in roman numbers.

o Watch Video Solution

446. Express 3706 in roman numbers.

o Watch Video Solution

447. Express 3707 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_aMDJenx0HJRd
https://dl.doubtnut.com/l/_C0D3g9YFmC00
https://dl.doubtnut.com/l/_QbZHguq2g6op
https://dl.doubtnut.com/l/_WnrNv4guvBI3
https://dl.doubtnut.com/l/_aYLN1L0sPfZl

448. Distinguish between the following pairs by chemical test:

06H5COOH and 06H5OH

° Watch Video Solution

449. Which one of the following does not respond to Tollen's test?

A. HCHO

B.CH;CHO

C. HCOOH

D. CH;COCH;

Answer:

o Watch Video Solution

450. Express 3710 in roman numbers.



https://dl.doubtnut.com/l/_Nfyru7757Kxx
https://dl.doubtnut.com/l/_pi2JrfmmszT0
https://dl.doubtnut.com/l/_mjQEY7locJnB

| ¥ Vvvatlcn Video solution )

451. Express 3711 in roman numbers.

° Watch Video Solution

452. Express 3713 in roman numbers.

° Watch Video Solution

453. Explain with the help of chemical reactions what happens when

acetone is treated with semicarbazide.

° Watch Video Solution

454. How will you differentiate between benzoic acid and phenol?

° Watch Video Solution



https://dl.doubtnut.com/l/_mjQEY7locJnB
https://dl.doubtnut.com/l/_xiBkEfjyc1Xe
https://dl.doubtnut.com/l/_xO3QKxNNRIzY
https://dl.doubtnut.com/l/_czstH8Qbs5Hb
https://dl.doubtnut.com/l/_hxbdErD1vUPA

455. How will you bring about the following conversion ?

Toluene to benzaldehyde.

o Watch Video Solution

456. How will you bring about the following conversion ?

Benzoyl chloride to benzaldehyde.

o Watch Video Solution

457. Express 3715 in roman numbers.

o Watch Video Solution

458. Draw structures of 1-bromo-2-iodocyclobutane

o Watch Video Solution



https://dl.doubtnut.com/l/_U1mJblNJdVou
https://dl.doubtnut.com/l/_rpPBY71wJU6W
https://dl.doubtnut.com/l/_39AbFGVmfwSS
https://dl.doubtnut.com/l/_mEApZwQF3CJm
https://dl.doubtnut.com/l/_DxN5TF0x25oV

459, Express 3716 in roman numbers.

° Watch Video Solution

460. Express 3717 in roman numbers.

° Watch Video Solution

461. Express 3718 in roman numbers.

° Watch Video Solution

462. Aldehydes, ketones and carboxylic acids are carbonyl compounds.
Write the reaction of carboxylic acid with the following reagents. (Write
the chemical equation)

Thionyl chloride (SOCl5)

° Watch Video Solution



https://dl.doubtnut.com/l/_DxN5TF0x25oV
https://dl.doubtnut.com/l/_mpjWLIPEhpvZ
https://dl.doubtnut.com/l/_TjIwq7HFnDNc
https://dl.doubtnut.com/l/_jyA07mTwwDCR

463. Aldehydes, ketones and carboxylic acids are carbonyl compounds.
Write the reaction of carboxylic acid with the following reagents. (Write
the chemical equation)

Chlorine in the presence of small amount of red phosphorus.

° Watch Video Solution

464. Express 3720 in roman numbers.

° Watch Video Solution

465. Express 3721 in roman numbers.

° Watch Video Solution

466. Express 3722 in roman numbers.

| o Watch Video Solution


https://dl.doubtnut.com/l/_jyA07mTwwDCR
https://dl.doubtnut.com/l/_jS0pwok7SB4X
https://dl.doubtnut.com/l/_B5jWDetvaZKf
https://dl.doubtnut.com/l/_Hy6AtWtIvIxX
https://dl.doubtnut.com/l/_6EX2Ais9WumX

467. How will you bring about the following conversion ? (Write the
chemical equation)

Ethanol — ethanoic acid.

° Watch Video Solution

468. How will you bring about the following conversion ? (Write the
chemical equation)

Benzamide — benzoic acid.

° Watch Video Solution

469. How will you bring about the following conversion ? (Write the
chemical equation)

Benzaldehyde — meta nitro benzaldehyde.

° Watch Video Solution



https://dl.doubtnut.com/l/_6EX2Ais9WumX
https://dl.doubtnut.com/l/_FBY8TXVEwvJk
https://dl.doubtnut.com/l/_ZDvUtdqeDcSW
https://dl.doubtnut.com/l/_EV51kCaQv8K8

470. Write the structurs of A, B, C, D and E in the following reactions :

B omoool_,p ZacHgencha g
m’d AICl,

cHh lmor 1 (i) KMnO,,~KOH, A

(i) Hy0* e

D+E

° Watch Video Solution

471. Write the chemical equation for the reaction involved in Cannizzaro

reaction.

° Watch Video Solution

472. Draw the structure semicarbazone of ethanal.

° Watch Video Solution



https://dl.doubtnut.com/l/_EV51kCaQv8K8
https://dl.doubtnut.com/l/_wQzTGRncLX8k
https://dl.doubtnut.com/l/_eDcwXP1UA44X
https://dl.doubtnut.com/l/_pUlU20cO1ZBA

473. Why is pK, of F — CHy; — COOH lower than that of

Cl-CH, - COOH?

o Watch Video Solution

474. Give chemical tests to distinguish between Propanal and propanone.

o Watch Video Solution

475. Write the chemical equation for Clemmensen reduction.

o Watch Video Solution

476. Write the chemical equation for Cannizaro’s reaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_2rlNUFsLFOc0
https://dl.doubtnut.com/l/_H7UuR2iW6693
https://dl.doubtnut.com/l/_0wrgvquE21sj
https://dl.doubtnut.com/l/_J7xa4wVmOEds

477. Express 3723 in roman numbers.

o Watch Video Solution

478. Express 3725 in roman numbers.

o Watch Video Solution

479. Express 3726 in roman numbers.

o Watch Video Solution

480. Express 3727 in roman numbers.

o Watch Video Solution

481. Express 3728 in roman numbers.


https://dl.doubtnut.com/l/_2yA543Jg8vOl
https://dl.doubtnut.com/l/_iMWQXYdph4st
https://dl.doubtnut.com/l/_YdT9rPM7riGv
https://dl.doubtnut.com/l/_vOZImLtlLvJL
https://dl.doubtnut.com/l/_uwcnhFhWHmHi

° Watch Video Solution

482. Express 3730 in roman numbers.

° Watch Video Solution

483. Express 3731 in roman numbers.

° Watch Video Solution

484. Express 3732 in roman numbers.

° Watch Video Solution

485. Express 3733 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_uwcnhFhWHmHi
https://dl.doubtnut.com/l/_mgPZhUiCL9y5
https://dl.doubtnut.com/l/_mNxVyhtSDPWe
https://dl.doubtnut.com/l/_gFd6QY55SJpa
https://dl.doubtnut.com/l/_p6l5vXlgWTA9
https://dl.doubtnut.com/l/_RSQ4qo06YyCM

486. Express 3735 in roman numbers.

° Watch Video Solution

487. Express 3736 in roman numbers.

° Watch Video Solution

488. Express 3737 in roman numbers.

° Watch Video Solution

489. Express 3738 in roman numbers.

° Watch Video Solution

490. Express 3750 in roman numbers.


https://dl.doubtnut.com/l/_RSQ4qo06YyCM
https://dl.doubtnut.com/l/_O3BAekqGV9mn
https://dl.doubtnut.com/l/_5aqPlz8Whg98
https://dl.doubtnut.com/l/_eLWm8vmAo9ij
https://dl.doubtnut.com/l/_vAt9v3zylYqn

° Watch Video Solution

491. Express 3751 in roman numbers.

° Watch Video Solution

492. Express 3752 in roman numbers.

° Watch Video Solution

493. Express 3753 in roman numbers.

° Watch Video Solution

494. Express 3755 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_vAt9v3zylYqn
https://dl.doubtnut.com/l/_JAjrp8nU4A7A
https://dl.doubtnut.com/l/_OQZH9PaQit33
https://dl.doubtnut.com/l/_5foYT6AK9Wf1
https://dl.doubtnut.com/l/_dGY5LPS1dpzb
https://dl.doubtnut.com/l/_H1RYQllSp1Yk

495. Express 3756 in roman numbers.

° Watch Video Solution

496. Express 3757 in roman numbers.

° Watch Video Solution

497. Express 3758 in roman numbers.

° Watch Video Solution

498. Express 3760 in roman numbers.

° Watch Video Solution

499, Express 3761 in roman numbers.


https://dl.doubtnut.com/l/_H1RYQllSp1Yk
https://dl.doubtnut.com/l/_PwmflqI2dPnp
https://dl.doubtnut.com/l/_D58rALeqJIKS
https://dl.doubtnut.com/l/_7ug08tBEhfQ0
https://dl.doubtnut.com/l/_K7XdaEtvPOGE

° Watch Video Solution

500. Express 3762 in roman numbers.

° Watch Video Solution

501. Express 3763 in roman numbers.

° Watch Video Solution

502. Express 3765 in roman numbers.

° Watch Video Solution

503. Express 3766 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_K7XdaEtvPOGE
https://dl.doubtnut.com/l/_XjXo20vffrNp
https://dl.doubtnut.com/l/_TTdzniHsiWBE
https://dl.doubtnut.com/l/_Ih8VZMo3LGOF
https://dl.doubtnut.com/l/_tNoFBA1MZLtb
https://dl.doubtnut.com/l/_9vXdCTh8ikxy

504. Express 3767 in roman numbers.

° Watch Video Solution

505. Express 3768 in roman numbers.

° Watch Video Solution

506. Express 3770 in roman numbers.

° Watch Video Solution

507. Express 3771 in roman numbers.

° Watch Video Solution

508. Express 3772 in roman numbers.


https://dl.doubtnut.com/l/_9vXdCTh8ikxy
https://dl.doubtnut.com/l/_58XbhYsixifu
https://dl.doubtnut.com/l/_GtgqjSDVl9eu
https://dl.doubtnut.com/l/_O6YfUpJ6nwQq
https://dl.doubtnut.com/l/_BMZFCqNuSbAh

° Watch Video Solution

509. Express 3773 in roman numbers.

° Watch Video Solution

510. Express 3775 in roman numbers.

° Watch Video Solution

511. Express 3776 in roman numbers.

° Watch Video Solution

512. Express 3777 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_BMZFCqNuSbAh
https://dl.doubtnut.com/l/_EqgaJ9E3Qn7r
https://dl.doubtnut.com/l/_44ctoRnvlRQg
https://dl.doubtnut.com/l/_92xvk44dM36I
https://dl.doubtnut.com/l/_XmnJArNJO9wU
https://dl.doubtnut.com/l/_istvXBh6VNM9

513. Express 3780 in roman numbers.

° Watch Video Solution

514. Express 3781 in roman numbers.

° Watch Video Solution

515. Express 3782 in roman numbers.

° Watch Video Solution

516. Distinguish between: CH;CH;COOH and HCOOH

° Watch Video Solution



https://dl.doubtnut.com/l/_istvXBh6VNM9
https://dl.doubtnut.com/l/_zJPgtU6IKLn2
https://dl.doubtnut.com/l/_FfgodCVuX6Zd
https://dl.doubtnut.com/l/_5g5KG08ACoNl

517. Arrange the following in the increasing order of their boiling points:

CH;CH,OH, CH3;COCH;3, CH;COOH

° Watch Video Solution

518. Write the chemical reaction involved in Etard reaction.

° Watch Video Solution

519. Arrange the following in the increasing order of their reactivity in

nucleophilic addition reactions. CH3;CHO, CiHsCHO, HCHO

° Watch Video Solution

520. Why is pK, of Cl— CHy, — COOH lower than the pK, of

CH3;COOH ?

° Watch Video Solution



https://dl.doubtnut.com/l/_5R6537tjgm3A
https://dl.doubtnut.com/l/_IsZUX2GYJC01
https://dl.doubtnut.com/l/_ZQywcSbRyZM1
https://dl.doubtnut.com/l/_VsWMNhuBLmJW

521.  Write  the product in the  following reaction.

1.(i—Bu),AlH
A2

° Watch Video Solution

522. A and B are two functional isomers of compound C3 HgO. On heating
with NaOH and I, isomer A forms yellow precipitate of iodoform whereas

isomer B does not form any precipitate. Write the formulae of A and B.

° Watch Video Solution

523. Draw structures of 4-chloropentene

° Watch Video Solution

524. Draw structures of 3-bromo-2-methylpropene

(e~ |


https://dl.doubtnut.com/l/_VsWMNhuBLmJW
https://dl.doubtnut.com/l/_z2bZJdkGDAUn
https://dl.doubtnut.com/l/_v1EQKeXUVxW2
https://dl.doubtnut.com/l/_cFgEBGaj3uZj
https://dl.doubtnut.com/l/_jqVovDnGVqS1

[ @ Watch Video Solution J

525. Write IUPAC name of following : (CH3),CHNH>

° Watch Video Solution

526. Nitika's mother was using old butter for cooking. Nitika noticed foul
smell from the butter and asked her mother not to use it. She told her
mother that certain food materials containing fats and oils get spoiled
when left for sometime and give foul smell and unpleased taste. Nitika’s
mother agreed and took fresh butter for cooking. Answer the following
question : Why do oils, fats and oily eatables develop unpleasant odors

and flavours ?

° Watch Video Solution

527. Write IUPAC name of CH3(CH>),NH;

° Watch Video Solution



https://dl.doubtnut.com/l/_jqVovDnGVqS1
https://dl.doubtnut.com/l/_zDJddr2GDiFd
https://dl.doubtnut.com/l/_Dyk2NlQUDXc8
https://dl.doubtnut.com/l/_TR23kYZZDF9t

528. Write IUPAC name of CH3(CH3),COOH

° Watch Video Solution

529. The reaction of formaldehyde with magnesium methyl bromide

followed by hydrolysis gives

A. secondary alcohol

B. primary alcohol

C. ketone

D. tertiary alcohol.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_TR23kYZZDF9t
https://dl.doubtnut.com/l/_Io5EgsWbVl2U
https://dl.doubtnut.com/l/_KJbR2Ax6tgRd

530. Draw structures of 3-methylbutanal

° Watch Video Solution

531. The molecule that can give Cannizzaro’s reaction is

A. acetaldehyde

B. formaldehyde

C. butyraldehyde

D. propionaldehyde.

Answer:

° Watch Video Solution

532. Draw structures of p-methylbenzaldhyde


https://dl.doubtnut.com/l/_uRs2xFdQigdh
https://dl.doubtnut.com/l/_rRjH8KB0180Z
https://dl.doubtnut.com/l/_zp7jJLyCpVE9

Answer:

o Watch Video Solution

533. Draw structure of 4-chloropentan-2-one

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zp7jJLyCpVE9
https://dl.doubtnut.com/l/_8iHyOB4JWHa5
https://dl.doubtnut.com/l/_u042i1WnusC4

534. Draw structure of hex-2-en-4-ynoic acid

Answer:

o Watch Video Solution

535. Which of the following gives iodoform test ?

A CH;0H

B. CH;COCH,CH;

C. HCHO

D. CH;COOH.


https://dl.doubtnut.com/l/_u042i1WnusC4
https://dl.doubtnut.com/l/_ZThhhWL61rH7

Answer:

° Watch Video Solution

536. Write IUPAC name of CH3;CO(CH,),CHj

Answer:

° Watch Video Solution

537. Write the IUPAC name of

following:


https://dl.doubtnut.com/l/_ZThhhWL61rH7
https://dl.doubtnut.com/l/_NQt3ngd8Zatl
https://dl.doubtnut.com/l/_qw3ZgHyugjk0

Answer:

o Watch Video Solution

538. Write the IUPAC name of following: CHs(CH,).CHO

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_qw3ZgHyugjk0
https://dl.doubtnut.com/l/_8NHAJdpaPvpd

CH;

|
539. Write the iupac name: CH3;CHCHj

Answer:

o Watch Video Solution

540. Write the iupac name of compound: CH3; CC'Hj

[
0


https://dl.doubtnut.com/l/_8NHAJdpaPvpd
https://dl.doubtnut.com/l/_I6EoE0I1duOq
https://dl.doubtnut.com/l/_lRqiJ8sOiONb

Answer:

° Watch Video Solution

Br

|
541. Write the iupac name of compound: CH;CCHCHj
|

o

Answer:

° Watch Video Solution

542. Write structure of terephthalic acid


https://dl.doubtnut.com/l/_lRqiJ8sOiONb
https://dl.doubtnut.com/l/_Ug1IcwCvPR7j
https://dl.doubtnut.com/l/_8aNmNeKIszzA

Answer:

o Watch Video Solution

543. Write the structure of 2-methylbenzoic acid

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8aNmNeKIszzA
https://dl.doubtnut.com/l/_B8gnqQN3Kx9O

544. Write iupac name CH3CH2CH2C’|HCHQCHQCHQCHO

OH

Answer:

o Watch Video Solution

545. Write the lupac name of following : CH3sCH,CH>CH CH CHO

| |
OH CH>CH3


https://dl.doubtnut.com/l/_B8gnqQN3Kx9O
https://dl.doubtnut.com/l/_MNH1RMHA4TEZ
https://dl.doubtnut.com/l/_qluO6VyWEa4u

Answer:

° Watch Video Solution

546. Write the lupac name of following : CH;CHCOOH

l
OH

Answer:

° Watch Video Solution

547. Write structure of but-2-en-1-oic acid


https://dl.doubtnut.com/l/_qluO6VyWEa4u
https://dl.doubtnut.com/l/_BctvCyAvAIO5
https://dl.doubtnut.com/l/_Qqmz1jO0OeV2

Answer:

o Watch Video Solution

548. Write structure of 3-phenylprop-2-enoic acid

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Qqmz1jO0OeV2
https://dl.doubtnut.com/l/_qqNoEzrEVfhm

549. Write structure of o-salicyclic acid

Answer:

° Watch Video Solution

550. What will happen if reduction of acetone takes place?


https://dl.doubtnut.com/l/_qqNoEzrEVfhm
https://dl.doubtnut.com/l/_VsZLzmjpvtHr
https://dl.doubtnut.com/l/_XbOSOvWlWBb3

Answer:

° Watch Video Solution

551. What will happen when bromoethane is treated with aq. KOH?

Answer:

° Watch Video Solution

552. Write IUPAC name CHy = CH — CH,OH


https://dl.doubtnut.com/l/_XbOSOvWlWBb3
https://dl.doubtnut.com/l/_R2myEr4RGUNK
https://dl.doubtnut.com/l/_BxffaqF1B1yV

Answer:

o Watch Video Solution

553. Express 3783 in roman numbers.

o Watch Video Solution

554. Express 3785 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_BxffaqF1B1yV
https://dl.doubtnut.com/l/_cE3YTp58uBZR
https://dl.doubtnut.com/l/_c47LrM9tliU5

555. Express 3786 in roman numbers.

o Watch Video Solution

556. Express 3787 in roman numbers.

o Watch Video Solution

557. Express 3800 in roman numbers.

o Watch Video Solution

558. Express 3801 in roman numbers.

o Watch Video Solution

559. Express 3802 in roman numbers.


https://dl.doubtnut.com/l/_xAN85lGRTkuJ
https://dl.doubtnut.com/l/_JJ7XQESnagGD
https://dl.doubtnut.com/l/_EA0MHWVjfFD2
https://dl.doubtnut.com/l/_N2ZtbgvHHaI1
https://dl.doubtnut.com/l/_txkfgTEz3q61

° Watch Video Solution

560. Express 3803 in roman numbers.

° Watch Video Solution

561. Express 3805 in roman numbers.

° Watch Video Solution

562. Express 3806 in roman numbers.

° Watch Video Solution

563. Express 3807 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_txkfgTEz3q61
https://dl.doubtnut.com/l/_r93bSwh1T6be
https://dl.doubtnut.com/l/_xNasvIR9rlcq
https://dl.doubtnut.com/l/_vv5wfI4zFeeD
https://dl.doubtnut.com/l/_f34DsC6NvBwT
https://dl.doubtnut.com/l/_mUdWNRO0rdB6

564. Express 3808 in roman numbers.

° Watch Video Solution

565. Express 3810 in roman numbers.

° Watch Video Solution

566. Express 3811 in roman numbers.

° Watch Video Solution

567. Express 3812 in roman numbers.

° Watch Video Solution

568. Express 3813 in roman numbers.


https://dl.doubtnut.com/l/_mUdWNRO0rdB6
https://dl.doubtnut.com/l/_CFkCA2i5PEef
https://dl.doubtnut.com/l/_362CZYyYIX9s
https://dl.doubtnut.com/l/_PoKolp9oL3kX
https://dl.doubtnut.com/l/_AM4odjOtXBfz

° Watch Video Solution

569. Express 3815 in roman numbers.

° Watch Video Solution

570. Express 3816 in roman numbers.

° Watch Video Solution

571. Express 3817 in roman numbers.

° Watch Video Solution

572. Express 3818 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_AM4odjOtXBfz
https://dl.doubtnut.com/l/_WnN9w1bfNyX7
https://dl.doubtnut.com/l/_M49nD5P8cPqf
https://dl.doubtnut.com/l/_2Dlaa08XZHTk
https://dl.doubtnut.com/l/_k7aWnGIAuhUI
https://dl.doubtnut.com/l/_VYDqhVaqReGJ

573. Express 3820 in roman numbers.

° Watch Video Solution

574.Express 3821 in roman numbers.

° Watch Video Solution

575. Express 3822 in roman numbers.

° Watch Video Solution

576. Express 3823 in roman numbers.

° Watch Video Solution

577. Express 3825 in roman numbers.


https://dl.doubtnut.com/l/_VYDqhVaqReGJ
https://dl.doubtnut.com/l/_QH7T2B7WsrZE
https://dl.doubtnut.com/l/_yspBnfvAtDfS
https://dl.doubtnut.com/l/_qWuPNdFGw2N8
https://dl.doubtnut.com/l/_8n9ZmY8jmaKh

° Watch Video Solution

578. Express 3826 in roman numbers.

° Watch Video Solution

579. Express 3827 in roman numbers.

° Watch Video Solution

580. Express 3828 in roman numbers.

° Watch Video Solution

581. Express 3830 in roman numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_8n9ZmY8jmaKh
https://dl.doubtnut.com/l/_uUD7K1CtAyJV
https://dl.doubtnut.com/l/_cvJ7dcvzAqnR
https://dl.doubtnut.com/l/_gEMnm0df5f3f
https://dl.doubtnut.com/l/_3SOqQQmbeHXh
https://dl.doubtnut.com/l/_AFZeytFnaikP

582. Express 3831 in roman numbers.

Answer:

o Watch Video Solution

583. Express 3832 in roman numbers.

o Watch Video Solution

584. Express 3833 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_AFZeytFnaikP
https://dl.doubtnut.com/l/_KMfUpSvyrAYA
https://dl.doubtnut.com/l/_JLHO4x9hRNqq

585. Express 3835 in roman numbers.

o Watch Video Solution

586. Express 3850 in roman numbers.

o Watch Video Solution

587. Express 3851 in roman numbers.

o Watch Video Solution

588. Express 3852 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_JLHO4x9hRNqq
https://dl.doubtnut.com/l/_ru69nuQlOkhd
https://dl.doubtnut.com/l/_j6ycww7dD426
https://dl.doubtnut.com/l/_O7VRKHbhMxax
https://dl.doubtnut.com/l/_lUyJbErL0Vf3

589. Express 3853 in roman numbers.

o Watch Video Solution

590. Express 3855 in roman numbers.

o Watch Video Solution

591. Express 3856 in roman numbers.

o Watch Video Solution

592. Express 3857 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_QfCRVSr1IlvN
https://dl.doubtnut.com/l/_HtCFMGuKsfWM
https://dl.doubtnut.com/l/_foEwShiudBfe
https://dl.doubtnut.com/l/_4bB1dbiTrfjE

593. Propionic acid with Br,/P yields a dibromo product. Its structure will

be

Br
|

A H — ? — CH,COOH
Br

B.CHyBr — CH,COBr

Br

|
C.CH; — C — COOH

\
Br

D.CHy(Br) — CH(Br) — COOH

Answer:

o Watch Video Solution

594. Express 3860 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_NXTLcVT4RLgH
https://dl.doubtnut.com/l/_q4fRV42OlpmY

595. Which of the following reactions will not result in the formation of C

-Cbond?

A. Wurtz reaction

B. Friedel Crafts acylation

C. Reimer Tiemann reaction

D. Cannizzaro reaction

Answer:

° Watch Video Solution

596. In a set of reactions, ethyl benzene yielded a product D.

H,CH, ey B . o
¥on B PGy C

D would be


https://dl.doubtnut.com/l/_DgYejKhlA1Rc
https://dl.doubtnut.com/l/_HYAQUhSnBDdO

fa)

00C,H,

(b)
Br

Hz—(fH-COOEisz
() @ Br

()
Br

CH,COOC,H,

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_HYAQUhSnBDdO
https://dl.doubtnut.com/l/_k21xi917QB3s

597.1n a set of reactions m-bromobenzoic acid gave a product D. Identify

the product D.

OOH
soc, , g _NHy , ¢ N;{}H ' D
ry
Br
A e .
A.
80, NH,
(a)
Br 13
B.
COOH
(b)
NH,
C.
NH,
(e)

Br


https://dl.doubtnut.com/l/_k21xi917QB3s

T

CONH,
(d)

(ALPMT

Answer:

° Watch Video Solution

598. Clemmensen reduction of a ketone is carried out in the presence of
which of the following ?

A. Glycol with KOH

B. Zn-Hg with HCI

C.LiAlH,

D. Hy and Pt as catalyst

Answer:

| ° Wiak A \tAaAaA CAliikiAan



https://dl.doubtnut.com/l/_k21xi917QB3s
https://dl.doubtnut.com/l/_8Ulhbz6iy0fX
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599. CH3;CHO and CgH;CH,CHO can be distinguished chemically by

A. Benedict's test

B. lodoform test

C.Tollen’s reagent test

D. Fehling’s solution test

Answer:

o Watch Video Solution

600. Express 3861 in roman numbers.

o Watch Video Solution

601. Express 3862 in roman numbers.



https://dl.doubtnut.com/l/_8Ulhbz6iy0fX
https://dl.doubtnut.com/l/_2KnInr399Gdb
https://dl.doubtnut.com/l/_glzwVlWZzjwi
https://dl.doubtnut.com/l/_2bMnweaDBpll

| ) Watch Video Solution

602. Express 3863 in roman numbers.

o Watch Video Solution

603. Express 3865 in roman numbers.

o Watch Video Solution

604. Express 3866 in roman numbers.

o Watch Video Solution

605. Express 3867 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_2bMnweaDBpll
https://dl.doubtnut.com/l/_JiC4RylLYmqF
https://dl.doubtnut.com/l/_bbqITFNdVnMy
https://dl.doubtnut.com/l/_0NwZFSA6e2Ah
https://dl.doubtnut.com/l/_StOpQxYlnvFY
https://dl.doubtnut.com/l/_Lx7qUtaAtbVo

606. Express 3868 in roman numbers.

o Watch Video Solution

607. Express 3870 in roman numbers.

o Watch Video Solution

608. Express 3871 in roman numbers.

o Watch Video Solution

609. Express 3872 in roman numbers.

o Watch Video Solution

610. Express 3873 in roman numbers.



https://dl.doubtnut.com/l/_Lx7qUtaAtbVo
https://dl.doubtnut.com/l/_632qsAoBnnQ4
https://dl.doubtnut.com/l/_erWT6BbO5Ufq
https://dl.doubtnut.com/l/_pNTja2yDNQN3
https://dl.doubtnut.com/l/_2tRSfT2ZXh6c

| ) Watch Video Solution

611. Express 3875 in roman numbers.

o Watch Video Solution

612. Express 3876 in roman numbers.

o Watch Video Solution

613. Express 3877 in roman numbers.

o Watch Video Solution

614. Express 3878 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_2tRSfT2ZXh6c
https://dl.doubtnut.com/l/_NUH8rou1egjT
https://dl.doubtnut.com/l/_bi9Ox996MSRU
https://dl.doubtnut.com/l/_MnfSq0mtWV9q
https://dl.doubtnut.com/l/_0LkgIP3CHJuX
https://dl.doubtnut.com/l/_658yXh0C91Dp

615. Express 3880 in roman numbers.

o Watch Video Solution

616. Express 3881 in roman numbers.

o Watch Video Solution

617. Express 3882 in roman numbers.

o Watch Video Solution

618. Express 3883 in roman numbers.

o Watch Video Solution

619. Express 3885 in roman numbers.



https://dl.doubtnut.com/l/_658yXh0C91Dp
https://dl.doubtnut.com/l/_mm6exglbxg9R
https://dl.doubtnut.com/l/_IqsMJSApDbwe
https://dl.doubtnut.com/l/_jh1PYVxoE3So
https://dl.doubtnut.com/l/_FjOFeINZP9id

| ) Watch Video Solution

620. Express 3886 in roman numbers.

o Watch Video Solution

621. Express 3887 in roman numbers.

o Watch Video Solution

622. Express 4000 in roman numbers.

o Watch Video Solution

623. Express 4001 in roman numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_FjOFeINZP9id
https://dl.doubtnut.com/l/_t1OfnMltwH5n
https://dl.doubtnut.com/l/_0gwNMaJsAIJM
https://dl.doubtnut.com/l/_1vD9FXreSHGQ
https://dl.doubtnut.com/l/_KxpBKLWjWzRX
https://dl.doubtnut.com/l/_umkIXpieC5Wh

624. Express 4002 in roman numbers.

o Watch Video Solution

625. Express 4003 in roman numbers.

o Watch Video Solution

626. Express 4005 in roman numbers.

o Watch Video Solution

627. Which of the following reagents may be used to distinguish between

phenol and benzoic acid?

A. Aqueous NaOH

B. Tollen’s reagent


https://dl.doubtnut.com/l/_umkIXpieC5Wh
https://dl.doubtnut.com/l/_5S88sBgmIanP
https://dl.doubtnut.com/l/_9H2i3OlBeS3E
https://dl.doubtnut.com/l/_X3jpygukbK1G

C. Molisch reagent

D. Neutral FeCl;

Answer:

° Watch Video Solution

628. Trichloroacetaldehyde was subjected to Cannizzaro's reaction by
using NaOH. The mixture of the products contains sodium
trichloroacetate ion and another compound. The other compound is

A. 2,2,2-trichloroethanol

B. trichloromethanol

C. 2,2,2-trichloroproupanol

D. chloroform

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_X3jpygukbK1G
https://dl.doubtnut.com/l/_ITarweokhWWb

629. In the given transformation, which of the following is the most

appropriate reagent?

CH = CHCOCH,-eagent 5,

HO
CH = CHCH,CH,
HO
A. Zn-Hg/HCl
B.Na, liq. NHy

C. NaBH,

D.NH, — NH, /OH ~

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ITarweokhWWb
https://dl.doubtnut.com/l/_jPiwpA0eT1cj
https://dl.doubtnut.com/l/_zFPlQfREEzAS

630. Compound (A), CsHyBr, gives a light yellow precipitate when
warmed with alcoholic AgNQO;3. Oxidation of (A) gives an acid (B),
CgHgO,4.(B) easily forms anhydride on heating. Identify the compound

(A).

CH,Br
. @Y

CH,

CH,
Br

(e)


https://dl.doubtnut.com/l/_zFPlQfREEzAS

(d)

CH,

Answer:

° Watch Video Solution

LiAlH, PCl,

631.In the reaction, CH3sCOOH s A > B

Ale. KOH

Cis

A. acetyl chloride

B. acetaldehyde

C. acetylene

D. ethylene

> C, the product


https://dl.doubtnut.com/l/_zFPlQfREEzAS
https://dl.doubtnut.com/l/_0wguigkqdtdm

Answer:

° Watch Video Solution

632. Which compound would give 5-keto-2-methyl-hexanal upon

ozonolysis?
A
Ll i ]
(a)
B.
H,
H,

(b)


https://dl.doubtnut.com/l/_0wguigkqdtdm
https://dl.doubtnut.com/l/_tFMMfcpqD7S6

(e)

CH,

(d)

Answer:

° Watch Video Solution

633. In the following sequence of
KMnOy;  SOCl, _ H,/Pd .
Toluene > A > B > C the product (C) is

BaSO4

A.CeHsCH,OH

B.CsHsCHO

reactions



https://dl.doubtnut.com/l/_tFMMfcpqD7S6
https://dl.doubtnut.com/l/_4cJTTi60UApP

C. CsH;COOH

D. s HsC Hs

Answer:

° Watch Video Solution

634. Which of the following does not undergo Cannizzaro's reaction ?

A. Benzaldehyde

B. 2-Methyl Propanal

C. p-Methoxy benzaldehyde

D. 2-2-Dimethyl propanal

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4cJTTi60UApP
https://dl.doubtnut.com/l/_m6dCdASTAX8r

635. Explain the mechanism of the following reaction :

Cone, H,50
CH,OH ——=2=4 CH,=CH, + H,0

A.
CH.
CHS
CH,
(a)
B.
CHO
Yo
OCH,
C.
COOH
(e)

OCH,


https://dl.doubtnut.com/l/_rssc7sUr4KHP

L T
3

(d)

Answer:

° Watch Video Solution

636. A compound ‘A’ having molecular formula C5H;20, on oxidation
gives a compound ‘B’ with molecular formula CsH190O. Compound ‘B’
gives 2. 4-dinitrophenyl hydrazine derivative but did not answer haloform

test or silver mirror test. The structure of compound ‘A’ is

A.CHsCH,CH,CH>;CH>,OH

B. CH3CH2CH2C‘H — CHj;
OH


https://dl.doubtnut.com/l/_rssc7sUr4KHP
https://dl.doubtnut.com/l/_JsgKhsl9Suou

C.CH;CH,CHCH,CHs;

|
OH

D.CH;CHsCH — CH,OH

|
CH3

Answer:

o Watch Video Solution

LiAlH. C dilut
637.CH3;COOH ! ' X - > Y s e> Z In the above reaction, Z is
300C°  NaOH

A. Aldol

B. Ketol

C. Acetal

D. Butanol

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JsgKhsl9Suou
https://dl.doubtnut.com/l/_NoeRR8mef0cd

638. Aldehydes that do not undergo aldol condensation are 1. Propanal 2.

trichloroethanal 3. methanal 4. ethanal 5. benzaldehyde

A.3 and 4 only

B.3 and 5 only

C.1,2 and 3 only

D. 2,3 and 5 only

Answer:

o Watch Video Solution

639. Which compound among the following ives a positive iodoform test

? 1. Ethanol 2. Ethanal 3. 1-Butanol 4. 2-Butanol 5. Phenyl ethanal

A.12and 5

B.1,3 and4

C.1,2and 3


https://dl.doubtnut.com/l/_Kl0mjy2n9ubO
https://dl.doubtnut.com/l/_grIE9lZkYmH3

D.12 and 4

Answer:

o Watch Video Solution

640. In Sy2 reactions, the correct order of reactivity for the following
compounds : CH;3Cl, CH;CH,Cl, (CH;),CHCland (CH3)4Cl is
A.HCN > CICH,COOH > HCOOH > CH3;COOH
B.HCN > HCOOH > CICH,COOH > CH;COOH
C.CICH,COOH > HCOOH > CH;COOH > HCN

D.CICH,COOH > HCN > HCOOH > CH3;COOH

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_grIE9lZkYmH3
https://dl.doubtnut.com/l/_3InrOF2Eaj06

641. The IUPAC name of
CHj
CH—CH—COOH is
Br” i
CH,

A. 2-Bromo-3-methylbutanoic acid
B. 2-Methyl-3-bromobutanoic acid
C. 3-Bromo-2-methylbutanoic acid

D. 3-Bromo-2, 3-dimethylpropanoic acid

Answer:

o Watch Video Solution

642. When Propionic acid is treated with aqueous NaHCOs3, CO, is

liberated. The ‘C’ of CO5 comes from


https://dl.doubtnut.com/l/_LlEVF4ZGurq1
https://dl.doubtnut.com/l/_FcXOBzavvqIY

A. methyl group

B. carboxylic acid group

C. methylene group

D. bicarbonate

Answer:

o Watch Video Solution

643. In the following sequence of

KMnO; | SOCl, _ Hy/Pd _
Toluene s A ! B > C the product (C) is
BaSO4

A. acetaldehyde

B. formaldehyde

C. acetic acid

D. acetone

Answer:

reactions



https://dl.doubtnut.com/l/_FcXOBzavvqIY
https://dl.doubtnut.com/l/_7gW6WPMO2dB4

I o Watch Video Solution

644. A Compound ‘X’ neither reacts with sodium displacing hydrogen nor
with phosphorus pentachloride to give hydrogen chloride. X reduces an
alkaline solution of Cu(ll) salt on gentle warming. The structure of X is

A. primary alcohol

B. secondary alcohol

C. a ketone

D. an aldehyde

Answer:

o Watch Video Solution

645. Which of the following compounds is not formed in iodoform

reaction of acetone ?


https://dl.doubtnut.com/l/_7gW6WPMO2dB4
https://dl.doubtnut.com/l/_qQb1Xa2Yr5Qg
https://dl.doubtnut.com/l/_xSx5kVQPTWPT

A. CH;COCH,I

B. [CH,COCH,I

C. CH3;COCHI,

D. CH;COCI,

Answer:

o Watch Video Solution

646. Which of the following pairs has the same size ?

A.CH3CHQO and CH;COCH;

B. CH3CH,CHO and CH;COCHs

C. CH3CH20H and CH30H20HOHOH3

D. CH;0H and CH;CH,CH,OH

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xSx5kVQPTWPT
https://dl.doubtnut.com/l/_eM7GJfWwGVqa

647. The IUPAC name of

ol OH

A. but-3-enoic acid
B. but-1-enoic acid
C. pent-4-enoic acid

D. prop-2-enoic acid

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eM7GJfWwGVqa
https://dl.doubtnut.com/l/_hhZMLoIvV93g

648. The relative acidic strengths of benzoic acid, o-toluic acid and p-

toluic acid is of the decreasing order -

A. p-toluic acid gt o-toluic acid gt benzoic acid

B. o-toluic acid gt p-toluic acid gt benzoic acid

C. p-toluic acid gt benzoic acid gt o-toluic acid

D. o-toluic acid gt benzoic acid gt p-toluic acid

Answer:

o Watch Video Solution

649. Upon treatment with I, and aqueous NaOH, which of the following

compounds will form iodoform ?

A.CH;CH,CH,CH,CHO

B.CH3;CH,COCH,CHj

C. CH;CH,CH,CH,CH,0H


https://dl.doubtnut.com/l/_sVQ5S8QiIDzR
https://dl.doubtnut.com/l/_yZdgAU9u0tag

D. CH;CH,CH,CH(OH)CH,

Answer:

° Watch Video Solution

650. Which of the following does not undergo Cannizzaro's reaction ?

Ap— N02 — 06H4 — CHO

B.C¢HsCHO

C. HCHO

D. CH3CHO.

Answer:

o Watch Video Solution

651. A carbonyl group can be converted into —CH, — by


https://dl.doubtnut.com/l/_yZdgAU9u0tag
https://dl.doubtnut.com/l/_aWqZxdN32s7D
https://dl.doubtnut.com/l/_92kYJpMs9DPj

A.NH,NH,/HCI
B. Zn-Hg/conc. HCI
C.H,/Ni

D. Li ALH,

Answer:

o Watch Video Solution

652. To which of the following species octet rule is applicable:

(a) I:"h—'(j-!':'!Cm.'lI

é,-OH
(b) Ph-Co
CN


https://dl.doubtnut.com/l/_92kYJpMs9DPj
https://dl.doubtnut.com/l/_kNzTWMLdyOuu

(e) ph_%’DH
“CN
D.
(d) Phﬁ:ﬂ
Answer:

° Watch Video Solution

653. Bromination of PhCOMe in acetic acid medium produces mainly


https://dl.doubtnut.com/l/_kNzTWMLdyOuu
https://dl.doubtnut.com/l/_XjKtVTCE41F0

(b)
Br
C.
(c)
D.
0%0 _CH,Br
(d)
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XjKtVTCE41F0

654. Conversion of benzene to acetophenone can be brought by

A. Wurtz reaction

B. Wurtz-Fittig’s reaction

C. Friedel Crafts alkylation

D. Friedel Crafts acylation.

Answer:

o Watch Video Solution

655. IUPAC name of CH; — CH — CHy — CH — CHjis

| |
OH COOH

A. 4-hydroxy-1-methylpentanoic acid
B. 4-hydroxy-2-methylpentanoic acid
C. 2-hydroxy-4-methylpentanoic acid

D. 2-hydroxy-2-methylpentanoic acid


https://dl.doubtnut.com/l/_eJoc1Eanvu33
https://dl.doubtnut.com/l/_q5ZLFS4ispiq

Answer:

° Watch Video Solution

656. Arrange the following compounds in increasing order of their
property as indicated: Benzoic acid, 4- nitrobenzoic acid, 3, 4-
dinitrobenzoic acid, 4-methoxy benzoic acid (acid strength)

A lltnittv

B. [HItItIVIEII

C. IVItItHltm

D. IVItHItItm

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_q5ZLFS4ispiq
https://dl.doubtnut.com/l/_PZFKNAL8X3OM

657. Give the structures of A, B and C in the following reactions

NHs . NaOBr _ NaNO,/HCI
CH;COOH A’i‘A B2 ¢

A. o-bromosulphanilic acid

B. sulphanilamide

C. sulphanilic acid

D. p-bromosulphanilamide

Answer:

o Watch Video Solution

658. Which one of the following transition metal ions is colourless in

aqueous solution ?

A. (i) and (ii)

B. (i) and (iii)

C. only (ii)


https://dl.doubtnut.com/l/_ZwJ5vZxzWOGm
https://dl.doubtnut.com/l/_Yk5bOvlvkNWr

D. (i) and (iv)

Answer:

° Watch Video Solution

659. Complete the following reaction:-

H
CooNa
+ NaOH Cao, Heat
_—

A. HgSO4 /dil. H>504
B. BH3, H509 /NaOH
C.0s04, HIO,

D. NaNH; /CH3I, HgSO,4 / dil. H2SO4

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Yk5bOvlvkNWr
https://dl.doubtnut.com/l/_zwqqxvcM9k0q

660. Compound ‘A" with molecular formula Cy1HgBr is treated with aq.
KOH solution. The rate of this reaction depends upon the concentration
of the compound ‘A’ only. When another optically active isomer ‘B' of this
compound was treated with ag. KOH solution, the rate of reaction was
found to be dependent on concentration of compound and KOH both.

Write down the structural formula of both compounds ‘A’ and 'B’.

A. 3-pentanone

B. 2, 2-dimethylpropanal

C. 3-hydroxy-2-pentene

D. 3-methylbutanal

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zwqqxvcM9k0q
https://dl.doubtnut.com/l/_9kbU7kiNeCDJ

661. An organic compound A with molecular formula CgHgO gives
positive DNP and iodoform tests. It does not reduce Tollen’s or Fehling’s
reagent and does not decolourise bromine water also. On oxidation with
chromic acid (H,CrOy), it gives a carboxy acid (B) with molecular
formula C; HgO5. Deduce the structure of A and B.

A. 2-ethylbenzaldehyde

B. 2-methylbenzaldehyde

C. acetophenone

D. 3-methylbenzaldehyde

Answer:

° Watch Video Solution

662. Which of the following compounds would undergo aldol
condensation, which the Cannizzaro reaction and which neither ? Write

the structures of the expected products of aldol condensation and


https://dl.doubtnut.com/l/_61lfhvmmXZlb
https://dl.doubtnut.com/l/_jn8lAPiSuzdn

Cannizzaro reaction ?

2-Methylpentanal.

A. Methanal and ethanal

B. Two moles of ethanal

C. Methanal and propanone

D. Ethanal and propanone

Answer:

° Watch Video Solution

663. Write the structure of 2-methylpenten-3-one.

o Watch Video Solution



https://dl.doubtnut.com/l/_jn8lAPiSuzdn
https://dl.doubtnut.com/l/_HZr57PD2E2KT

664. The ketone

will not be

formed by

A. reaction of benzene and acetyl chloride in the presence of AlCls.

B. reaction of acetonitrile with phenyl magnesium bromide in ether

followed by hydrolysis.

C. treatment of acetyl chloride With dibenzyl cadmium.

D. addtion of water to phenyl acetylene in the presence of mercuric

sulphate and dilute Sulphuric acid.


https://dl.doubtnut.com/l/_ucP5JQFpvx2t

Answer:

° Watch Video Solution

665. The formation of cyanohydrin from a ketone is an example of

A. nucleophilic addition

B. electrophilic substitution

C. nucleophilic substitution

D. electrophilic addition.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ucP5JQFpvx2t
https://dl.doubtnut.com/l/_UcEqBgALwhPd

HO

CHO

of the above reaction is

the product

(a)

CH,0
sl
O0H


https://dl.doubtnut.com/l/_jTFiqEwPGroV

H,0H
ie)
00
D.

CHEO_
“CL

CO0

Answer:

o Watch Video Solution

667. A mixture of benzaldehyde and formaldehyde when treated with 50%

NaOH yields

A. Sodium benzoate and sodium formate

B. Sodium formate and benzyl alcohol

C. Sodium benzoate and methyl alcohol


https://dl.doubtnut.com/l/_jTFiqEwPGroV
https://dl.doubtnut.com/l/_PWgl8JFYR48F

D. Benzyl alcohol and methyl alcohol

Answer:

o Watch Video Solution

668. The major products obtained during ozonolysis of 2,3-dimethyl-

Ibutene and subsequent reductions with Zn and H,O are

A. methanoic acid and 2-methyl-2-butanone

B. methanal and 3-methyl-2-butanone

C. methanol and 2,3-dimethyl-3-butanone

D. methanoic acid and 2- methyl-3butanone.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PWgl8JFYR48F
https://dl.doubtnut.com/l/_lv1htQr7MHfY

669. Amongst the following compounds, the one that will not respond to

Cannizzaro reaction upon treatment with alkali is

A Cl;CHO

B. MechO

C.CsH;CHO

D. HCHO.

Answer:

o Watch Video Solution

670. Draw the structure of simolest alkene.

A.CH; — CH = CH — CH;


https://dl.doubtnut.com/l/_3x3DrrFWhIGH
https://dl.doubtnut.com/l/_V7Ngzp4jnRjA

(b) D\

(c)

D.CH; — CH = CH — CH = CHj

Answer:

° Watch Video Solution

671. Amongst the following compounds the one which would not respond

to iodoform test is

A.CH,;CH(OH)CH,CH,

B.ICH,COCH,CHj


https://dl.doubtnut.com/l/_V7Ngzp4jnRjA
https://dl.doubtnut.com/l/_w4jrzSGvUOQo

C.CH;COOH

D. HC3CHO

Answer:

° Watch Video Solution

672. What is the reagent used in Etard reaction?

A. Chromyl chloride

B. Ethanoyl chloride

C. SnCl, and HCl

D. Cadmium chloride.

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_w4jrzSGvUOQo
https://dl.doubtnut.com/l/_ffPb4aXRoQQ8

673. Which of the following compound when treated with dibenzyl

cadmium yields benzyl methyl ketone?

A. Acetone

B. Acetaldehyde

C. Acetic acid

D. Acetyl chloride.

Answer:

o Watch Video Solution

674.The reagent used in Wolff-Kishner reduction is:

A. NH, — NH, and KOH in ethylene glycol
B. Zn-Hg/conc. HCI
C. NCLBH4

D. Na — Hg/HQO


https://dl.doubtnut.com/l/_041DPpiyxHkS
https://dl.doubtnut.com/l/_squG4AQ66gFK

Answer:

o Watch Video Solution

675. Which one of the following involves nucleophilic addition?

A. Kolbe’s reaction of phenol

B. Williamson's synthesis of ethers

C. Reimer-Tiemann reaction of phenol

D. Aldol formation from ethanal

Answer:

o Watch Video Solution

676. Benzene carbaldehyde is reacted with concentrated NaOH solution
to give the products A and B. The product A can be used as food

preservative and the product B is an aromatic hydroxy compound where


https://dl.doubtnut.com/l/_squG4AQ66gFK
https://dl.doubtnut.com/l/_XbbKSqrm5j0P
https://dl.doubtnut.com/l/_MBuW088trKKz

OH group is linked to sp® hybridised carbon Atom next to benzene ring.
The products A and B are respectively,

A. sodium benzoate and phenol

B. sodium benzoate and phenyl methanol

C.sodium benzoate and cresol

D. sodium benzoate and picric acid.

Answer:

o Watch Video Solution

677. An organic compound X is oxidised by using acidified K;Cr,07

solution. The product obtained reacts with phenyl hydrazine but does not

answer silver mirror test. The compound X is

A. 2-propanol

B. ethanal

C.Benzene


https://dl.doubtnut.com/l/_MBuW088trKKz
https://dl.doubtnut.com/l/_S04Oey12dqT0

D. ethanol

Answer:

° Watch Video Solution

678. Predict the product (B) in the following sequence of reactions:

KMTZO4—KOH .H-?,OJr
> A > B

Ethylbenzene

A. Benzaldehyde

B. Benzophenone

C. Benzoic acid

D. Acetophenone

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_S04Oey12dqT0
https://dl.doubtnut.com/l/_GMiIujulqWfr

679. Predict the product ‘C in the following series of reactions:

PCly CeHg CH3MgBr
CH; — COOH — A > B ;

7

7
Anhyd. AlCl3

0
(a) /‘\/

B. CH3CH(OH)CGH5
C. CH3CH(OH)C2H5

D. (CH3)2C(OH)C6H5

Answer:

o Watch Video Solution

Hg*" \H*
680.Ph — C = C — CH; — "+ A, Ais


https://dl.doubtnut.com/l/_D0owVvITPiZq
https://dl.doubtnut.com/l/_e1ot6cKoQZWe



https://dl.doubtnut.com/l/_e1ot6cKoQZWe

L T vvaldn video o>01ution

681.
0 CHO ¢
O Q) —@Neome
N H* M
CHO OHC =
Major product is
A.
(n) @
B.


https://dl.doubtnut.com/l/_e1ot6cKoQZWe
https://dl.doubtnut.com/l/_h1EzzG64oti9

D.
CH,OH HOH,
. CH,OH HOH,
Answer:

° Watch Video Solution

682. The order of reactivity of phenyl magnesium bromide with the

following compounds is

O

e iR UL
HyC BC R Ph)\'h
I

I II


https://dl.doubtnut.com/l/_h1EzzG64oti9
https://dl.doubtnut.com/l/_kQR9SMTEhH3u

A ligtlligtl

B. Igtlligtll

C. ligtigtil

D. All react with same rate

Answer:

o Watch Video Solution

683. The IUPAC name of C4 H;COCl is

A. Benzoyl chloride

B. Chloro phenyl ketone

C. Benzenecarbonyl chloride

D. Phenyl chloro ketone

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_kQR9SMTEhH3u
https://dl.doubtnut.com/l/_cLFpLJUSb0wj

684. The correct acidity order of the following is

f | GDGH COOH

gl ) vy

AIIl > 1V > 11 > 1
B.IV > IIT > 1 > 11
CIIT >II>1>1V

D.II > III > 1V > 1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_cLFpLJUSb0wj
https://dl.doubtnut.com/l/_nRmbSCeTL9lG

685. Cyclohexene on ozonolysis followed by reaction with zinc dust and
water Gives compound FE. The compound E on further treatment with

aqueous KOH yields campound F. Compound F is :

% Dm

COOH
o
COOH


https://dl.doubtnut.com/l/_LwfpFZJzkNhM

Answer:

° Watch Video Solution

686. In the following reaction sequence, the correct structures of E, F and

G are
P V_" il
M _ Meat , [B] — My () + (G
OH
[ 3

[:' olies 15C labelled carbon)

(Hm c

A.

(Hmplies ©~ Q

@E= j\ 3 Na *

T Pif
f i
F- M G=CHI,
» = Ph)J\ CHy P N3 Na
C.

.
- F= /l.l\s @ G = CHI,
© E= )\éﬂa pi” “ONa *



https://dl.doubtnut.com/l/_LwfpFZJzkNhM
https://dl.doubtnut.com/l/_S1yOjG68lG9k

Answer:

° Watch Video Solution

687. The major product of the following reaction is

REHEDH
H® (anhydrous)

>

O

A. a hemiacetal
B. an acetal
C. an ether

D. an ester

Answer:



https://dl.doubtnut.com/l/_S1yOjG68lG9k
https://dl.doubtnut.com/l/_IOftUrpMl0zp

I ¥ Watch Video Solution ]

688. Among the following compounds, the most acidic is

A. p-nitrophenol

B. p-hydroxybenzoic acid

C. o-hydroxybenzoic acid

D. p-toluic acid

Answer:

o Watch Video Solution

689. The compound that undergoes decarboxylation most readily under

mild condition is


https://dl.doubtnut.com/l/_IOftUrpMl0zp
https://dl.doubtnut.com/l/_L0cKfRxJUQvu
https://dl.doubtnut.com/l/_Ij9eEKQZC5mo

COOH
CH,COOH
(a)
B.
COOH
0O
(b)
C.
H
| OOH
c)
D.
CH,COOH
0]
(d)
(11T
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ij9eEKQZC5mo
https://dl.doubtnut.com/l/_KK3igbHcWiHh

690. The number of aldol reaction(s) that occurs in the given

transformation is

TTEEmRALFAL ALY

o OH ~OH
HJCHU + 4HCHO cone.ag. NoOH -
H{j })H

Al

B.2

C.3

D.4

Answer:

o Watch Video Solution

691. The major product H of the given reaction sequence is

CN 95 % H,SO
CHs; — CHy — CO — CHs — G i

Heat

A.CH3; — CH = |C’ - COOH

CHj;


https://dl.doubtnut.com/l/_KK3igbHcWiHh
https://dl.doubtnut.com/l/_jaDD4L61LXb8

B.CH; —CH = C —CN
|
CH;
OH

|
C.CH; —CHy,— C —COOH
\
CHs

D.CH3 —CH = C —CO — NH,

|
CH;

Answer:

o Watch Video Solution

692. After completion of the reactions (I and IlI), the organic compound(s)

in the reaction mixtures is (are)


https://dl.doubtnut.com/l/_jaDD4L61LXb8
https://dl.doubtnut.com/l/_Cda6K0Tc9TMb

Br,(1.0 mol) N

ion I: H,C CH
i Taome) aqueous NaOH
O
U o CH Br,(1.0 mol)
e Ha(‘:tl,n me) ~  CH,;COOH
O O
H,C CH,Br H,C CBr,
P Q
O O
Br,C CBr, BrH,C CH,Br
R s
0
H,C ONa CHBr,
T U

A. Reaction I: P and Reaction Il : P

B. Reaction I: U, acetone and Reaction Il : Q, acetone

C. Reaction I: T, U, acetone and Reaction II: P

D. Reaction I: R, acetone and Reaction Il : S, acetone

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Cda6K0Tc9TMb

693. The compound that does not liberate C'O,, on treatment with
aqueous sodium bicarbonate solution, is

A. Benzoic acid

B. benzenesulphonic acid

C. salicylic acid

D. carbolic acid (phenol)

Answer:

o Watch Video Solution

694. The major product in the following reaction is

1.CH4MgBr, drv ether. 0 C
Cl \/\J\\ 2 aq. and
CH

a



https://dl.doubtnut.com/l/_Cda6K0Tc9TMb
https://dl.doubtnut.com/l/_OIPCUABm35KQ
https://dl.doubtnut.com/l/_3bcRsP57uPRe

0
\a) HEC\/\)\ CHS
OH
(b) PL;::“\’MH3
CH,
o N
0 .

CH
() ¢ Y s
0 CHa

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3bcRsP57uPRe

695. Complete the following:

COOH

-BaS0O,
PCI, <N HI.Pd.fIS‘ " 3B
S, quinoline

A MtttV

B. lligtigtligtlV

C. lligtIvgtligt!

D. IgtlligtiVgtll

Answer:

o Watch Video Solution

696. Reagent(s) which can be used to bring about the following

transformation is(are)


https://dl.doubtnut.com/l/_tYk2It9WTBMO
https://dl.doubtnut.com/l/_jc9AJ3im72s4

COOH COOH
A LZAlH4 in (C2H5)2O
B. BH; in THF
C. N(IBH4 in C2H5OH

D.Raney Ni / Hy in THF.

Answer:

° Watch Video Solution

697. Predict the products in the following reaction:

@_ OH + Cun-::AH,SDJ‘ i

O
o/



https://dl.doubtnut.com/l/_jc9AJ3im72s4
https://dl.doubtnut.com/l/_l5IovwT00KIO

(a)

B.
Pal
O O 0H
=3
o (Y X
=
C.
HO
(e)
D.
(d)
Answer:

| o Watch Video Solution


https://dl.doubtnut.com/l/_l5IovwT00KIO

698. The Cannizzaro reaction is given by

A. benzaldehyde

B. acetaldehyde

C. acetone

D. trimethyl acetaldehyde

Answer:

° Watch Video Solution

699. Aldol condensation is not given by

A. benzo phenone

B. acetophenone

C. benzaldehyde


https://dl.doubtnut.com/l/_l5IovwT00KIO
https://dl.doubtnut.com/l/_FPrhSY4pUMmg
https://dl.doubtnut.com/l/_4t7l0zPH1XYK

D. propanal

Answer:

° Watch Video Solution

700. The compounds which give iodoform on treatment with alkali and

iodine are

A. propanone

B. acetaldehyde

C. diethyl ketone

D. methanal

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4t7l0zPH1XYK
https://dl.doubtnut.com/l/_1tcHQwEYlIKn

701. Double fertilization is exhibited by

(@) @-Cﬂ= o

(b) 0:@20

(e) QO
0
D.
] 0

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_WV2Z4nkFwqDM

702. Identify the binary mixture(s) that can be separated into individual

compounds, by differential extraction, as shown in the given scheme.

_Nﬁﬂﬁ_“‘L, Compound 1|
]

Compound 2

—lﬂnﬂﬂﬂn (ag)_

Compound 1]
s
Compound 2

A.CeH;OH and Cs HsCOOH
B.CcHsCOOH and C¢H;CH>;OH
C.C¢H;CH>OH and CsHsOH

D.CsHsCH>OH and Co H;CH,;COOH

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_d2h4SQJMUPco

703. Complete the reaction

CM

dil HCY

A.T is soluble in hot aqueous NaOH.
B. U is optically active.
C. Molecular formula of W is C;gH3Oj.

D.V gives effervescence on treatment with aqueous NaHCOj;

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_b0PqzIF4mmgZ
https://dl.doubtnut.com/l/_9PxY9ixmFXuD

704. Phenol and benzoic acid may be distinguished by their reaction with

A. aqueous NaOH

B.aqueous NaHCOj;

C.neutral FeCls

D. aqueous NHj

Answer:

o Watch Video Solution

705. Which of the following on oxidation with alkaline KMnO, followed

by acidification with HCl give benzoic acid ?

A. Toluene

B. Ethyl benzene

C. o-xylene

D. p-xylene


https://dl.doubtnut.com/l/_9PxY9ixmFXuD
https://dl.doubtnut.com/l/_itKQpbfwUY6u

Answer:

° Watch Video Solution

706. Which of the following can reduce Fehling’s solution ?

A. Methanal

B. Methanoic acid

C. Ethanoic acid

D. Butanoic acid

Answer:

° Watch Video Solution

707. Acetophenone is prepared by

° Watch Video Solution



https://dl.doubtnut.com/l/_itKQpbfwUY6u
https://dl.doubtnut.com/l/_b7Qvl6dBv0oD
https://dl.doubtnut.com/l/_ygncglsdlv7C

708. Which of the following reactions will not result in the formation of C
-Cbond ?
A C.HgCOCl + 02H5OH —
B. C6H5COCl + 02H5OH —
Al (OCyH;) 4

C.CH3;CHO + CH,CHO — %

D. (CH300)2O + 02H5OH —

Answer:

o Watch Video Solution

709. Which of the following statements are correct ?

A. p-fluoro benzoic acid is weaker acid than p-chloro benzoic acid.

B. Chloroacetic acid is weaker acid than dichloro acetic acid

C. By passing CO through aqueous NaOH solution at 473 K under 10

atm pressure, formic acid is formed.


https://dl.doubtnut.com/l/_S5s0KpxspS3t
https://dl.doubtnut.com/l/_7YkyZ61Ske9E

D. Calcium acetate on heating gives acetic acid

Answer:

° Watch Video Solution

710. Amongst the following, homopolymer is:

A. ethyl chloride

B. chlorobenzene

C. benzaldehyde

D. salicylic acid

Answer:

o Watch Video Solution

711. Choose the correct statement


https://dl.doubtnut.com/l/_7YkyZ61Ske9E
https://dl.doubtnut.com/l/_2PKtdBPivyCs
https://dl.doubtnut.com/l/_lLLguLYR0MTT

B. CH3C' HO on reaction with HCN gives racemic mixture.

02H5 C2H5
| \
CCH;— C —HandH- C —OH
| |
OH CH3

D.CH3; — CH = NOH shows geometrical isomerism.

Answer:

° Watch Video Solution

712. Show that every positive even integer is of the form 2q, for some

integer q.


https://dl.doubtnut.com/l/_lLLguLYR0MTT
https://dl.doubtnut.com/l/_mT5tBPejJuhx

C.
OH
Ph
(e)
Ph)\ﬂ/
0

D.

0
(d)
PMP}‘
Answer:

o Watch Video Solution

713. An acyclic hydrocarbon P, having molecular formula CsHjg, gave
acetone as the only organic product through the following sequence of

reactions, in which Q is an intermediate organic compound.


https://dl.doubtnut.com/l/_mT5tBPejJuhx
https://dl.doubtnut.com/l/_dQa6wF99hr2b

(i) dill. H,80

o Nl At Q

(CgH,,)  Gindil.

(1) cong, H.ﬂo
(catalytic amount) ﬁ'
V2 ¢
iz, /N
(i) WH'D Hﬂ-ﬂ CH:

The structure

of compound P is

A.CH3;CH,CH,CHy - C =C - H

B.HsCH>C — C =C — CHyCHjs

C.
|ﬂ.;° ocn,
)

D.

E ;‘,_o-cr—n

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dQa6wF99hr2b

714. The structure of the compound Q is

7

[ 53-enduen,

OH

\
D.CH3;CHs;CHsCHCH>CHj;

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ySN34TxyGJRN

715. In the following reaction sequence, the compound J is intermediate.

(CHyC0),0 (i)Hy,Pd/C .
> J > K J(C9H30>) gives
CH3COONa (%) SOCI2, (iii) anhyd. AlCl3

effervescence on treatment with NaHCO3 a positive Baeyer's test.

Answer the following (9-10) questions : The compound I is

()


https://dl.doubtnut.com/l/_Ypg0j8OnjfPD

)

Answer:

° Watch Video Solution

716. The correct order of reactivity of the following derivatives of

carboxylic acids

P T

A: R—C—NH, B: R—C—OR

C: R—C—Cl D: R—C—R'is


https://dl.doubtnut.com/l/_Ypg0j8OnjfPD
https://dl.doubtnut.com/l/_3KOz0Kk0x5Zz

AA<B>C>D

BA<B<(C<D

cC>D>B>A

D.DD<(C<A<B

Answer:

o Watch Video Solution

717. Mass cannot be converted into energy(True/ False)

A. chloride ion is a weaker base than a carboxylate ion

B. chloride ion is a stronger base than a carboxylate ion

C. chloride ion and carboxylate ion have equal basicity

D. acyl chloride is less reactive than carboxylic acid

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3KOz0Kk0x5Zz
https://dl.doubtnut.com/l/_FQJT0AFfKXbV

718. What happens when methyl chloride is treated with KCN ?

A. N-methylacetamide and N-ethylacetamide

B. two molecules of N-ethylacetamide

C. N-ethylacetamide and N-propylacetamide

D. N-propyiacetamide and N-butylacetamide

Answer:

° Watch Video Solution

719. Define the terms ' average rate ' and 'instantaneous rate'?

° Watch Video Solution

720. Which is correct statement ?


https://dl.doubtnut.com/l/_FQJT0AFfKXbV
https://dl.doubtnut.com/l/_liJp8xfJrkhU
https://dl.doubtnut.com/l/_9G2UrSDQ2mmX
https://dl.doubtnut.com/l/_ZqHmG5DOufIb

A. it gives a positive Tollens test and is a functional isomer of X.

B. it gives a positive Tollens test and is a geometrical isomer of X.

C. it gives a positive iodoform test and is a functional isomer of X.

D. it gives a positive iodoform test and is a geometrical isomer of X.

Answer:

o Watch Video Solution

721. Give chemical equation for the following conversion : Cyclohexanol to

cyclohexanone.

o Watch Video Solution

722. Assertion : In methanal, all the four atoms are in the same plane.

Reason : The carbon atom in methanal is sp? hybridized.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZqHmG5DOufIb
https://dl.doubtnut.com/l/_tF9QsEgP5iCU
https://dl.doubtnut.com/l/_VStkzfPzILwC

723. Assertion : Benzaldehyde is more reactive than propanal towards
nucleophilic addition reactions. Reason’: Benzaldehyde is less sterically

hindred.

° Watch Video Solution

724. Assertion: Acetaldehyde undergoes aldol condensation with dil.
NaOH. Reason : Aldehydes which donot contain a-hydrogen undergo

aldol condensation.

° Watch Video Solution

725. Would you expect Benzaldehyde to be more reactive in nucleophile

addition reactions than propanal . Explain?

° Watch Video Solution



https://dl.doubtnut.com/l/_czvnWyRLo2mw
https://dl.doubtnut.com/l/_MPKNrAKetNHJ
https://dl.doubtnut.com/l/_3nzvM4BDStim

726. Give chemical reaction of Reimer-Tiemann Reaction?

° Watch Video Solution

727. Assertion : The pK, of acetic acid is lower than that of phenol.

Reason : Phenoxide ion is more resonance stabilized than acetate ion.

° Watch Video Solution

728. Assertion : Benzoic acid and phenol can be distinguished by

NaHCOs.Reason : Benzoic acid is stronger acid than phenol.

° Watch Video Solution

729. Assertion : Fluoroacetic acid is stronger acid than chloroacetic acid.

Reason’: due to greater electron donating effect of F than Cl.

° Watch Video Solution



https://dl.doubtnut.com/l/_LxazOwtU2UKU
https://dl.doubtnut.com/l/_mUK48sYqlIzd
https://dl.doubtnut.com/l/_4C0Hfnk6iOv0
https://dl.doubtnut.com/l/_xHF3P2VCoW6Q

730. Assertion : Ethanoic acid liberates hydrogen with sodium metal.

Reason : Sodium is an alkali metal.

° Watch Video Solution

731. Assertion : Acetic acid does not undergo haloform reaction. Reason

— : Acetic acid has no a-hydrogen atom.

° Watch Video Solution

732. Assertion: Acetic acid is weaker acid than CH3;CH,COQOH. Reason :

due to +l effect of methyl group.

° Watch Video Solution



https://dl.doubtnut.com/l/_xHF3P2VCoW6Q
https://dl.doubtnut.com/l/_J6oX1XHVeZYz
https://dl.doubtnut.com/l/_oS8DAbGkaGBe
https://dl.doubtnut.com/l/_6jxEYP29r0FP

733. The number of compounds amongst : methanal, benzaldehyde,

propanal, propanone, 2, 2-Dimethyl propanal, 3-methylpentanal, which

give Cannizzaro’s reaction are

r (L]

[OTilT2TeT4l5 6 780

° Watch Video Solution

734. Addition of water to alkynes occurs in acidic medium and in presence
of Hg*>" ions as a catalyst. Which of the following products will be

formed on addition of water to but-1-yne under these conditions.

@)

I
ACH; —CH, —CH, - C — H

o

I
B.CH; — CH, — C — CHjy

o

I
C.CH; — CH, — C — OH + CO,

O (0]
I |
D.CH,—C - OH+H-C—H


https://dl.doubtnut.com/l/_H2INQXDG3TWX
https://dl.doubtnut.com/l/_dqJWdjtCqZtV

Answer:

° Watch Video Solution

735. Write the chemical equation for the following conversion

Acetaldehyde to butane-1,3-diol .

o Watch Video Solution

736. The correct order of acid strength is

A. Phenol It Ethanol It Chloroacetic acid It Acetic acid

B. Ethanol It Phenol It Chloroacetic acid It Acetic acid

C. Ethanol It Phenol It Acetic acid It Chloroacetic acid

D. Chloroacetic acid It Acetic acid It Phenol It Ethanol

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_dqJWdjtCqZtV
https://dl.doubtnut.com/l/_M4Z4lmy2knxf
https://dl.doubtnut.com/l/_EOUs1eOwsMde

o

I
737. Compound Ph — O — C — Ph can be prepared by the reaction of

° Watch Video Solution

738. The reagent which does not react with both, acetone and

benzaldehyde .

A. Sodium hydrogensulphite

B. Phenyl hydrazine

C. Fehling’s solution

D. Grignard reagent

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EOUs1eOwsMde
https://dl.doubtnut.com/l/_x2cPd1DCZEMQ
https://dl.doubtnut.com/l/_hALzSZZSNMPs
https://dl.doubtnut.com/l/_5SJAjZRBVkuR

739.The Cannizzaro reaction is given by

C. HCHO

D. CH;CHO.

Answer:

° Watch Video Solution

740. Write the iupac name of compound: CH3; CCHj

[
o
A. Prop-1-en-2-ol, metamerism

B. Prop-1-en-1-ol, tautomerism


https://dl.doubtnut.com/l/_5SJAjZRBVkuR
https://dl.doubtnut.com/l/_uHExEUmc3ame

C. Prop-2-en-2-ol, geometrical isomerism

D. Prop-1-en-2-ol, tautomerism

Answer:

° Watch Video Solution

741. Compounds A and C in the following reaction are

i) CH3M gBr H,504, A

Hydrob or ation ® idation
AN

CH,CHO -  (4) (B

(ii) H,O

A. identical

B. positional isomers

C. functional isomers

D. optical isomers

Answer:

7 C

° Watch Video Solution



https://dl.doubtnut.com/l/_uHExEUmc3ame
https://dl.doubtnut.com/l/_WZfsEy60a1bu
https://dl.doubtnut.com/l/_XVhb0vwckePl

742. Which is the most suitable reagent for the following conversion?

o C

|| |

A. Tollen’s reagent

B. Benzoyl peroxide

C. 15 and NaOH solution

D. Sn and NaOH solution

Answer:

o Watch Video Solution

743. Which of the following compounds will give butanone on oxidation

with alkaline KMnQ, solution?

A. Butan-1-ol

B. Butan-2-ol

C. Both of these


https://dl.doubtnut.com/l/_XVhb0vwckePl
https://dl.doubtnut.com/l/_McGfxq62YwsB

D. None of these

Answer:

° Watch Video Solution

744. In Clemmensen Reduction carbonyl compound is treated with

A. Zinc amalgam + HCI

B. Sodium amalgam + HCI

C. Zinc amalgam + nitric acid

D. Sodium amalgam + HNO;

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_McGfxq62YwsB
https://dl.doubtnut.com/l/_oSvikofTaefv

745. In the following questions two or more options may be correct.

Which of the following compounds do not undergo aldol condensation?

A.CH; — CHO

[
o
C.CH; — |c'* — CH,
CHj;
D.CH; — (||7 — CHO

CH,

Answer:

° Watch Video Solution

o

[
746. Treatment of compound Ph — O — C' — Ph with NaOH solution

yields

° Watch Video Solution



https://dl.doubtnut.com/l/_39HwTT5S8EB0
https://dl.doubtnut.com/l/_tmrqkcBklq6i

747. what is Clemmensen Reduction?

° Watch Video Solution

748. Through which reaction number of carbon atoms can be increased in

the chain?

° Watch Video Solution

749. Benzophenone can be obtained by,

° Watch Video Solution

750. In the following questions a statement of assertion followed by a
statement of reason is given. Choose the correct answer out of the

following choices. (a) Assertion and reason both are correct and reason is


https://dl.doubtnut.com/l/_tmrqkcBklq6i
https://dl.doubtnut.com/l/_HqbIVjHOROdI
https://dl.doubtnut.com/l/_gkc2ac3UiKlK
https://dl.doubtnut.com/l/_FUuflB63sJGe
https://dl.doubtnut.com/l/_aadpYVf0AV9W

correct explanation of assertion. : (b) Assertion and reason both are
wrong statements. (c) Assertion is correct statement but reason is wrong
statement. (d) Assertion is wrong statement but reason is correct
statement. (e) Assertion and reason both are correct statements but
reasson is not correct explanation of assertion. Assertion : Formaldehyde

is a planar molecule. Reason : It contains sp? hybridised carbon atom.

° Watch Video Solution

751. Carboxylic acids are reduced to alkanes /alcohols with Hl, red P.

° Watch Video Solution

752. Assertion : The a-hydrogen atom in carbonyl compounds is less
acidic. Reason : The anion formed after the loss of a-hydrogen atom is

resonance stabilised.

° Watch Video Solution



https://dl.doubtnut.com/l/_aadpYVf0AV9W
https://dl.doubtnut.com/l/_WBp99ZabDbZE
https://dl.doubtnut.com/l/_iymf1P5FZcyx
https://dl.doubtnut.com/l/_4XdIVyG8EwLx

753. Convert Acetyldehyde to isopropyl alcohol.

° Watch Video Solution

754. Conversion of Semicarbazide to Semicarbazone.

° Watch Video Solution

755. Convert Ethyl alcohol to Acetaldehyde.

° Watch Video Solution

756. Arrange the following compounds in the increasing order of boiling

points : 02H5002H5, C4H10, C4H90H

° Watch Video Solution



https://dl.doubtnut.com/l/_4XdIVyG8EwLx
https://dl.doubtnut.com/l/_x4HDyMbvJV6N
https://dl.doubtnut.com/l/_RmS0fEtOc8B9
https://dl.doubtnut.com/l/_kOQMsnZyF333

757. What is the name of the following

anhyd. AlCls
RCOCl+ Hh ——— RCHO + HCI

reaction?

° Watch Video Solution

758. Draw the structures of hex-2-en-4-ynoic acid.

° Watch Video Solution

759. How will you convert the following to benzoic acid?

Ethylbenzene .

° Watch Video Solution

760. How will you convert the following to benzoic acid?

Bromobenzene.

° Watch Video Solution



https://dl.doubtnut.com/l/_UvRvsAmgVGr2
https://dl.doubtnut.com/l/_AA9s3deVEkhY
https://dl.doubtnut.com/l/_SvOBgrk1IcV0
https://dl.doubtnut.com/l/_VXoth4FQdHBK

761. Write the product formed by the aldol condensation of the following

: propanal.

° Watch Video Solution

762. Write the structures of the products formed by the aldol

condensation of the following : Acetaldehyde.

° Watch Video Solution

763. Benzoic acid is stronger acid than acetic acid. Justify.

° Watch Video Solution

764. Explain the following : Chloroacetic acid is stronger acid than acetic

acid.

s ]


https://dl.doubtnut.com/l/_VXoth4FQdHBK
https://dl.doubtnut.com/l/_cyRTyULdmASk
https://dl.doubtnut.com/l/_PR9dUH42MA3u
https://dl.doubtnut.com/l/_Y2xTzew27ilo
https://dl.doubtnut.com/l/_iilpGGN7osdZ

l o \Wwatch Viaeo Solution J

765. Write the name of the reagent to bring about the following

conversion : Ethane nitrile to ethanal .

° Watch Video Solution

766. Write the name of the reagent to bring about the following

conversion : Ethane nitrile to ethanal .

° Watch Video Solution

767. Give plausible explanation for of the following : There are two — NH>
groups in semicarbazide. However, only one is involved in the formation

of semicarbazones.

° Watch Video Solution



https://dl.doubtnut.com/l/_iilpGGN7osdZ
https://dl.doubtnut.com/l/_SJYalYVBgnpw
https://dl.doubtnut.com/l/_8l7nwAa7lDNt
https://dl.doubtnut.com/l/_U4MpnAuDhpZz

768. lllustrate the following named reaction by giving example :

Clemmensen reduction.

o Watch Video Solution

769. Explain:

Cannizzaro’s reaction.

o Watch Video Solution

770. Write Wolff Kishner reduction.

o Watch Video Solution

H:NCONHN H:
771. Complete the following reaction : C¢ HsCHO iy

o Watch Video Solution



https://dl.doubtnut.com/l/_68iTpnVWLTVa
https://dl.doubtnut.com/l/_YamfwgUhalfs
https://dl.doubtnut.com/l/_shxOAzABrm1U
https://dl.doubtnut.com/l/_ShVfdRG5wCNS
https://dl.doubtnut.com/l/_anXT69qXgB7N

NaBH.
772. Complete the following reaction : CH3COCH,COOC5Hj5 iy
H+

° Watch Video Solution

773. Give chemical tests to distinguish between the following pairs :

Pentan -2-one and pentan -3-one

° Watch Video Solution

774. Give chemical tests to distinguish between the following pair of

compounds : Benzoic acid and phenol.

° Watch Video Solution

775. Give chemical test to distinguish between the following : Phenol and

cyclohexanol.

° Watch Video Solution



https://dl.doubtnut.com/l/_anXT69qXgB7N
https://dl.doubtnut.com/l/_a27eVnJej5xq
https://dl.doubtnut.com/l/_h8NXasFFhvSL
https://dl.doubtnut.com/l/_2xTmcrvZG6cL

776. An organic compound A has molecular formula CsH505. It gets
hydrolysed with dil. H,SO,4 and gives a carboxylic acid B and an alcohol C.
Oxidation of C with chronic acid also produced B. C on dehydration gives

but-1-ene. Write equations for the reactions involved.

° Watch Video Solution

777. How will you convert acetic acid into : acetamide .

° Watch Video Solution

778. How will you convert acetic acid into : acetyl chloride .

° Watch Video Solution

779. How will you convert acetic acid into : ethyl acetate.

| o WMIak L\ dan Ol ikl n


https://dl.doubtnut.com/l/_2xTmcrvZG6cL
https://dl.doubtnut.com/l/_dC8gwzqf75VX
https://dl.doubtnut.com/l/_X26zwpwqaPJZ
https://dl.doubtnut.com/l/_6srRr6Xtz5NZ
https://dl.doubtnut.com/l/_0HjseKFeYpp0
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780. An organic compound A with molecular formula CsHgO gives
positive DNP and iodoform tests. It does not reduce Tollen’s or Fehling’s
reagent and does not decolourise bromine water also. On oxidation with
chromic acid (H5CrQOy), it gives a carboxy acid (B) with molecular

formula C; HgO5. Deduce the structure of A and B.

o Watch Video Solution

781. Arrange the following carbonyl compounds in the increasing order of
their reactivity in nucleophilic addition reactions : Ethanal, Propanal,

Propanone, butanone.

o Watch Video Solution

782. Although p-hydroxy benzoic acid is less acidic than benzoic acid,

ortho hydroxy benzoic acid (salicylic acid) is about 15 times more acidic


https://dl.doubtnut.com/l/_0HjseKFeYpp0
https://dl.doubtnut.com/l/_5HzdgILKvOht
https://dl.doubtnut.com/l/_49WsDRW9aOi3
https://dl.doubtnut.com/l/_EDKyJ1oT02VM

than benzoic acid. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_EDKyJ1oT02VM

